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Abstract

The project of civil engineer is related to the study of Python language program. This
can be used to solve and correct for the Engincering Mechanics 1. Simultaneously, it is able to
solve the questions accurately and rapidly comparing with the normal method, Finally, this

program is absolutely improved or developed to be better for operating without difficultly,
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3.1 fuazPualumslFidsunsa Python (x,y)
¥ ¥ ] ¥
Tufiftesnddsduaouiiag W lumsifTsunsu Python (x,y) fsudnisminiInaa

F
sutamsBonldTusunsy Hdad

™~
1.1.1 msaniinen

A
w15 ﬂm’l'lﬁﬂﬂﬁ‘lé’ﬂ http://www.pythonxy.com/

) pythonxy
Sambﬂt;ww PWm Dislibytion based on Qt and Ectipse

'-:’:1-‘, Wikl lssiiey
S

Down!oads
Download page with changolog.

Gurrent release
Python{x.y) cument vaision is 2.6.5.3 (License).

Suppodted 05 4‘. EdIlIon iLocann - ‘L_L_I_nk“ T _J
Windorrs XPIVItal | Fl | bior  ptaded by NIUA) || Pyhonix )2 680 |
Windows XP/VistafT || Fuk '[MmZ(ptmdndby;ogl_ah)“Mﬂ(&!):Lﬁ-ﬁle_mi

. Wab Edition is the sasiest way lo download any Pythor{x.y) Edition (Full, Basic, Light of E'
adilions). Hote thal this installer can be used for an offiine instalation Yoq {downloaded files «
compular).
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d
71 3.1 urmamlinearni TnaaTibsunauvean i lad Tnsou tend-nu



3.1.2 m3nanaldsuniu

LY a 2 de I o A A v J g
® ﬁ‘lJlﬂﬂﬂﬁﬂ‘ﬂﬂ'ﬂ.ﬂﬁ‘l‘lﬂ"')uiﬂﬁﬂu’l IWONYHIN YU Aan YES

Type Size

. -Application,

Date modified

*fmm::
M Deskiop B
i Dovnloads
“E] Recent Places

Pythenlxy)-2651 = I55SILHE T ETS

& Ubnries
' Doguments
J’ Music
Pictures
H videns

™ Computer
5 Local Disk (C1)
e MEDU\ )

Py‘lhoﬂb’.ﬂ -26.51 Dete medified: 4/5/2553 1:46 Date created: 27/10/2553 23:42

Application Se: {41 MB

1 4
3171 3.2 uensIddadaveaTusunsy

® AN Next

Ny .pyl_hqn(x.',-'} Choose which features of Python(x,¥) 2.6.5. 1 you want to

nstal,
-Ched(tl'lemnpomm:ywwmthhsmlanduvdwdtﬁtemnmnmtsmdon'twmtho
: hstal Click Next to continue,

SdectlhetmEnfrml- foustom ¥
Ormnwm' mg‘e medto. lt]ﬂ Install for : F[‘):::::?-:?m mause ‘
hstal you ' Directories aver a u‘.émpt-n-:-nt Lo §
“: Python 2.6.5 sex its descripkion, B
m—l Pythion g
E} ™ Edpse ' i
3 IB . Other
_ ‘ Plugins I
!l Space ri:qwed: 693,38
Pythandx,y), the Pythrh Distritruticn mads by Scentists fur _.nen'cnts
' | <Back_ ][ ge_xt:»_] [ Cancel]
§
A e S e s

: 4 a &
UM 3.3 uamamsidondauisenouiidesmsdadaves lrlsunsy



® Aan Next

Inzdalialion Complota
Setup was completed successfully,

T T N T

o Bythonls,y), the Fython Gistrivution mads by Stisntists far aofenbists

[3 ¥
Jfl 3.4 uansnsinauad wsoudooudn
i

4 »
® aan Finish tuduadasvudeoslunisinds

Completing the Python(x,y) 2.6.5.1
Selup Wizard

Python{x,y} 2.6.5, 1 has been instaled on your complrter,
Click Finksh to dose this wizard, :
;
pylhon i
e Visit Python(x,y) offidal website §
powered i
j

4 - & q
11 3.5 uamimsdndaneneuiiamedindocayssi
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3.1.3 mstlaldannu

o & 2 4
®  aulanany shortcut

Welcome to Python(xy) : easy uccess Lo Python scripts, interactive congoles
andhelp oninstalled packages. . & - - S -

51 3.6 uasfonsnve Tlsunsy
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* pylhon(x.y}
2.6.5,1

Shortouts | Documentation | About

Applications: (Edipse, Qt, MayaVi)
[wme -
Spyder

Opﬂons:[%ﬂﬁ_' . ‘.']

Interactive consoles:

[@ronty) )
lP‘ﬂhon(x,y}
Startup saipl:

' g
31l 3.7 ugaamdandnvealiaunsy

o ¥ Tsunsudlatundgl

Python 2.6.8 It265|79096, Har 19 2010, 21:13:26} [HSG v.lSOO 32 blc lInt -
el)) on wiln3z2
!Type ncopyright”, "oredits” or "licensel)” for more information.

niiiﬂhlﬂiilltilllilki*kiiikikilﬂqhiuiﬂiltl*llt*khulﬁlllllkﬁihlkl
Personal flrewall software may wazn sbout the connectlon IRLE
makes to its subprocess using this computer'sa internal laopback
interface. This gonnection is mot visible on any external

interface and no data i3 sent to or received from che Internet.
i.itiihlﬁhtﬁﬁlqililillkhlhkkkkﬁktihtllIllillltikiktlhiklkhlkllhk

IDLE 2.6.5
o>

o
11l 3.8 uamaviiidevenldn-Su IDLE

12
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3.2 msveuldsuniy
= 0” % ] Qr r-1 -1
1'Nﬂ'|7ﬁlUNTﬂTllﬂ5ﬂ1u1ﬂﬁﬂuuﬂ ﬂﬁwﬂuilﬂﬂﬂigu']ﬂﬂﬁﬂﬁ&"ﬂ75“?\11‘5911101“{'14
4 [ AJ = o 0'-! 1]
aoie (source) immlszananalunmondadld  uoe e 7l szdlumseTueiaTaonsing

4 $ A a o '
sonmilenniusuniofnuuimdnidninmisdenden laddien

32,1 fd
. g d’ a A&‘ A v e ar ] J’
Tnssmataiiezldhrdsfugnii hiofududornn TavaglIddmssddi

8

m1ed 3.1 uansmdauasietuieiidvesmaiiou Tilsunsy

Are LY
& a o
shiTugadwuguuumsdon Tl sunsufidln
_ future s ) -
FOU SENIN2.X U 3.X
& d o
Aulsdtuinimalsunduda deil¥mems d
division -
mInsiiiey
print “(foanuy’ Slunsusassadnildilnnguusenoufianed
ﬁ o & I {I’ % 'y ﬁ
dumsriudifladdudunldan dvaszyionoga
import 4
amdauga tnzdoiladdn
fumsiudiladaudnnldon uilidsadonde
from 2 -
uoga taziuAwys inilou import
input(fian23) dumssmuamdansnnmaiudwingidou
- Whumstmuam Idvuduals
+ MIAUUUMTUIN
- ASAUHUM AL
. AIAUHUMI
/ NMFAITUMTMNS
% unMaY




14

J ] 1:! -] [~ a G'J
MITHN 3.2 LAAIATTIUASMOTUIWAIRIVOINOHA math

. o . @ ] R
sin() #Handu sin AMUIUNIAT sin
o’e'; 1
cos() HanHY cos AMUIUNIAI cos
Je'.- a ]
tan() AU tan AIMUUMIA tan
. ¢ . e 1 .
asin() 4% arc sin AMUIUNIA arc sin
o o ]
acos() H9f9U arc cos AUIUMINT arc cos
atan() HaA4U arc tan ANAUMIA arc tan
degrees(x) favrsman x nnvhos@ouidluniavind
radians(x) ATUIUMIANYY x vInvieansdiumiasfoy

vanumg assnasnluinsen wsldmitns@ow
3.2.2 fiasthamaduuldsuny
TaulgTandvindretedoasuvssaniisins udedialumsiiosTdsunsuluum

& > d
il davwesmavvisnuaaniiog lAnmanian n.

4
do% 73. iswsna W davhnawila stundeasarlugnierunes

I
100 N
S
ﬂs= 0.5
- r=0.4
w

d d
U 3.9 uermegianTondden 73

o gofqlfiavesTsunsy

sz nonnTondoz 8o Tia hisudeunmin dail
from math import*
x = input(insert f:')

y = input(’insert mew:')



n=x/y
print 'W="n'N

v d
o maantn dvinnmswou Tilsunsy

d woy A A - 9 w o ' Py
vnyeialaafiuans Mo lonTusunsy senadnsiaamaslunmde il

"é,,,.EE_i_t_.;‘ hell. - Debug . Options . Windows Help ' R

il Python 2.6.5 (r265:79096, Mar 19 2010, 21:48: *
26) [MSO v.1500 32 bit (Intel)] on win32

| Type “"copyright", "oradits" or "licensa()" fo

1r more information.

2233122232222 2222t 222 d il i sty d
itilttiiiili*i**iiitliii

Peraonal firewall software may warn about
tha conneotion IDLE
makes to its subprocess using this comput
er's internal loophack
interfaocs. This conneotion ls not visibl
| ® on any external
interface and no data is sent tc or reoel

i vad from the Internet.
P Y L L AT st eI s T a L )

e ol o o i o e o ol i ol ol e e ol o ke

l IDLE 2.6.5
| >>> import test73
| insert £:100.0
insart mew:0.5
W= 200.0 N
> | -
En: 16]Col: 41

31 3.10 urmswadwien Tulsunsy
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Twumil sendndsnavesniguiivan Fwzianswadnilums@ouTisunsyly
sou ifloud Tondtlgm Snnamans3rnsay 1 wasielhifhunasg Tase 4 Tondilgm
nniredidoasuusdaniiransuas lunisdouss R.C. Hibbeler Engincering Mechanics
Statics ST Edition 11 umsi Tasanmlundell dwivdmdhuszdiunslddeyannimg
Admumn uazdmvanediunsidfoyaimaatuniftenoudivy dauvesnaonis
fnans18n annsan ¥ininman o naz . unsdeldmrduiiuaumunadhleie

1 4
u Sawrqal 1 umsiedail

A o oy
I 4.1 aplAsmsduiuTasenu

wade S| dof So'vid
1LIRIADS 3 -3 st 1,st 2,st3
2.0170YBIBYAIN 3 4-6 st_4,st_5,st 6
3.52UUNTY 3 7-9 st 7,8t 8,8t 9
4. ugavesiaguianis 3 1012 | st10,st L1,st 12
5.MIATIEH InTaadn 3 13-15 | st13,st 14,8t 15
6397181 3 16-18 | St_16,st 17,5t 18
7.u5AfvAN Y 3 19-31 | st-19,st20,st 21
gqaguinmanaunzsqauniess | 3 22.24 | 5t22,st23,st 24
9.Tumm’:’m1m$au'umﬁuﬁ 3 25.27 | $t.25,st 26,8t 27
10.9741dilou 3 28-30 st 28 ,st 29 st 30
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dof 1. 14 Tandernmisdevss R.C. Hibbeler Engineering Mechanics Statics SI Edition
The boat is to be pulled onto the shore using two ropes, Determine the magnitudes of forces
T and P acting in each rope in order to develop a resultant force of 80 N, directed along the aa

keel as shown, Take 8 = 40°,

(m ()

gy tiool
Il Fie.. Edit Shel

ile Edit. Shell Debug Optioﬁs{ :
AR {| Windows Help

| Windows Help |
T>>> RESTART = af

N
il IDLE 2.6.5
>>> import st 1

»»> import st 1
insert metar:60.0

insert setar:40.0
il insert setarl:4¢.0

| insert F1:100.0

insert setarl:30.0

insart F1:80.0

T= 54.7232229321 N

p= 42.567110899 N
| >>> |

T= 87.9385241572 N
p= 65.2703644666 N
>>> |

Ln: 18

(M) @)
it 4.1 uﬁmswnxtﬁunzﬂunzﬂﬂnwn’uﬁmminnmiﬁmuh]sunmﬁaﬁ {
() namageinTimddod 1.
(4) 1ErRY Free Body Diagram 9071 1.
) uansnainiondoyalondded 1.

o ay 4
@) urawadwivindeynmuyAden 1.

Given ; Given :

0=40°,0,=30°,F, =80 N ©=60°,8,=40°,F, = 100N
HaaNSvINAIA YN

T=547N : T=8794N

P=426N P=6527TN

17



$o#t 2. 19 Tandornuiiadoves R.C. Hibbeler Engineering Mechanics Statics SI Edition

Determine the x and y components of the 800 N force ,
800N

2

I File dit Shell Debug Options | { Fle Edit Shell Debug Options |}
HWindows Help . - f | Windows Help =~ - [
>»> =————= RESTART = a|. »>> ======= RESTART = a|
»»> import st 2 i| >>> import st 2
insert F:1000.0
insert alfa:60.0 insaert alfa:45.0
insert beta:40.0 insert beta:30.0
Fx= H14.230087749 N _ Fix= 500.0 N
| Fy= —612.835554495 N _ Fy—= -866.025403784 N
> v
IGE Col: 4
(R) C)]

il 4.2 ustmerunzBoagiliaznamsauinaunnmsdou I sunsuded 2
) usasgloanTondded 2.
(%) ue1A3 Free Body Diagram 'ﬁﬂﬁ 2.
() sarnsradnivindoynTandded 2

. oy d
(@ usanadninindoyanuyidof 2.

Given ; Given ;
F=800N,a=60°,[=40° F=1000N =45, =30°
HaRVS IR

F,= 5142N F,= 500N

F,=-6128N F,=-866.03 N

18




Yot 3. 19 Tondnnmlsdoues R.C. Hibbeler Engincering Mechanics Statics SI Edition

19

Determine the magnitude of the resultant force and its direction, measured counterclockwise from

the positive x axis.

800N

i s . .

i File Edit Shell. Debug

| Windows Help

1>»> import at 3

il ingert F1:600.0
ingert F2:600.0
insert setar:40.0

insert 0:12.0
insert d:5.0
Frya= 58.989400649 N

Fry— 744.999318518 N
Frc= 747.331073877 N

satar= 85.4727308434 degrees
»> |

(f)

il P
i File Edt Shell Debug
| Hep i
1>>> import st_3
] insert F1:1200.0
! insert r2:900.0
insert setar:60.0
insert o:10.0
ingsert d:3.0

 Fry— 1207.84358155 N
{ Fr— 1324.0335485 N
gatar= —-70.5850475392 degrees

@

1l 4.3 naasvaz@uagluazsamsdiivoaunnansdouTisunsade 3

() urasgilornTonddod 3,

4
(%) (7YRY Free Body Diagram {0 3.

) o
(R) uermanadnioindayalandden 3.

A o = A
() uananaaniondeyacuyAdon 3.

QGiven ;
F,=800N,F,=600 N, @ =40°
c=12,d=5

AndnoInnIfiuaw
B, = 59N

Fp, = 745N

F,=T47N

0= 85.5°

Given :

F,=1200N,F,=900N, © = 60°
¢=10,d=3

Fy, = -262.04 N
Fp, = 1,297.84 N
F= 1324.03N
0~ -7881°
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o ar ' a
Joi 4. Wlndoindresdenouvesamining

= o ‘l
avTalugrlyudadauszusvi lshanmzanga

g

File Edit Shel

i{ Help

| »»>> import st 4
I setar=(x/v)
insert x:4,0
insert y:3,0
insert w:1000.0
insert k:1000.0
satar= 36.8698976458 degrees
f= 600.0 N
s= 0.6 m
>>> |

| setar=(x/y)

il insert x:4.0
ingert y:3.0
insert w:1750.0
insert k:1200.0
setar= 36.86989764568 degreas
f= 1050.0 N
s= 0.875
>>> |

hmlﬂﬁi:'

() ()
Uit 24 uﬁmswnznﬁuazﬂuazﬂnmsﬂ'uﬁmminnmsﬁluuwiunsu‘ﬁ'ﬂﬁ 4
() uanagileinTandded 4.
(V) it¥AY Free Body Diagram 1’1’8‘?% 4.
() uaraskoans ndeya landdodt 4.

o ay d
() nerparadnsnndeynmn@ded 4,

Given : Given :

w=1,000N , k= [,000 N/m w= 1,750 N, k = 1,200 N/m
HadwinnmIfivan

F= 599.86 N F= 1,049.76 N

§=0599m=0.6m $§=088m=09m



A a’ 1 -
dof 5. Wlandoindredndoaouvesaminang
] o CI -~ 1
AN AD Filiseun 40 N §uau 2 usanszihidegl Taofinudigasesivuuuianiuly

4 o A i y o o
Auitga D unsgnsssiudrudiuien BE Hdasdauginhmin w=100N sefivnssming

Lo o) A
Ujfsninga D

Rl R

‘FAle -Edit. Shell . ptions .~ |f d File Edit Shell . Debug . Options
| Windowss Help . | Windows Help -

>»> import st B i >>> import st_5
W insert £1:-40,0 | insert £1:-60.0
ll insext £2:-40,0 i £2:-50.0
ll insext w:100.0 insert w:140.0
ll insart distanca of £1:8.0 I ' : distanas of £1:13.0
{l Ansert distanca of £2:4.,0 i i distance of £2:7.0
il ingert distanoca of w:5.0 ! distance of w:8,0
fl *d=- 20.0 N N
il M= 20.0 N/m : f -10.0 N/m

Q) L)

it 45 1tfmmunm‘é‘un;ﬂuazﬂnnwﬁnﬁmmmnmﬂ%uuiﬂsuﬂsm’faﬁ 5.
™ nanagalornlondded 5.
(%) 11514 Free Body Diagram 467 5.
(@) unrmanadnsvindeya Tandded 5.

. Ay d
) narmsnndwsndoyacuyddedn s.

Given : Given :
F,=40N,F,=40N,w=100N F,=60N,F,=50N,w={40N
a=4m,b=4m,c=5m a=6m,b=7m,c=8m
Hagns oM

F,=20N F,=30N

M= 20 N/'m = - 10 N/m
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‘i‘fﬂ‘ﬁ 6. 'lﬁwﬁmnuﬁqﬁwm R.C. Hibbeler Engineering Mechanics Statics SI Edition
Cords AB and AC can each sustain a maximum tension 800 N. If the drum has weight of 900 N,

determine the smatlest angle © at which they can be attached to the drum.

{ File Edt Shell Debug Options Windows - [}
| Help i SO |

:._Sh;ﬁ_fb;bug Optie

) »>> import at 6

it >>> import st 6
insert T:800.0

ll insert W:900.0
setar= 34.2288663278 degrees
>>> |

| insert T:1200.0
insert W:1400.0
aetar= 35.6053347127 degrees

>>> |
|L@Eifhh4

Q)] ()

it 4s uﬁmswaztﬁm;ﬂunzﬂnmiﬁuﬁmmmnn'ﬁﬁmﬂﬂmnm'\’fﬂﬁ 6.
(n) urmagleinTanddof 6.
(4)) Lie¥RS Free Body Diagram {6l 6.
() unrasnndnioindeynliddeit 6.

. oy d
@ naasradnsnndoyamag@den 6.

Given : Given ;
T=800N,w=900N T=1200N,w=1400N

HAAHTINMIANIN
0 =14.2° 0 =135,69°



doit 7. W landvindretadenauvssaniirang

=y ] A
2efinITaMIvNIAYE TuIAGA2Y (Couple) Yoasz LTI VN

0sm - | LA TIR
A ] RN
/ . m: kN / y . e F
SkN W 4m F = Am /
f A +
T m Iw
o 9L m
L—2m— L x
(n) ()

>3 import st 7
I| insert X:2.5

:K bar=

H Y bar=
|l insertc

¥:3.0

1.25

1.5

£:5.0
anglas:30.0

,B253175473 kM/m

| Windows Help

[ File Edit Shell Debug Options

>>> inport at 7
insert X:3.5
insert Y:4.5
¥ har= 1.75
¥ bar= 2.25
ingort £:7.5

insert angles:45.0
M= 18.5615530061 kN/m

My— 23,864053B65 kN/m
M= 42.4264068712 kN/m
»> |

(M) ()

' A r
31l 4.7 unmasronziBeagiinsnamrduiuauninntsdion Tsunsuded 7.

A
() waaaglonTanddos 7.
d
(%) A4 Free Body Diagram don 7.
(m) uansmadnsndoynlnddon 7,

o = J
@) uanwaansnndoyaeuyfdedn 7.

Given : Given :
x=25m,y=30m,e=30° x=35m,y=45m,0=45°
F=5kN F=7.5kN

Hadws MR

M, = 10.82 kN/m , M, = 7.5 kN/m
M= 18.32 kN/m

M, = 18.56 KN/m , M, = 23.86 kN/m
M= 42.42 KN/m

23
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%ot 8. Wlandnndastudeneuvesaminng
ar o _ ¥ ] oy sy A
dmiunmnuagunnuldusnsgidagl wfinsumusalfisniga A

20 kN

B |
|

B

6 m wpe—3 m—-—l

(M) )

§ File Edit Shell Debug- Optio B ile Edit Shell Debug -
| Windows Help | | Windows Hetp - B

il >>> import st 8 = »>> import st B

| insert F:Z0.0_ insert F:40.0
insert L1:6.0 insert L1:8.0
insert L:9.0 insert L:12.0
Cy= 40.0 kn Cy= 106.666666667 kN
Ay= 80.0 kN Ay—= 213.333333333 kN

>>> | 3 »>> |

Ln: 133

(n) ¥
110% 4.8 ugmsrwnzBuagiiazsamsduiuninmsdon Isunsudod s.
(M uansgrloinTonddoi s,
(%) 11AIAY Free Body Diagram {6 8.
(") naasHadniondoyn Tonddeit s,
@) wetnsHadniaindeynauy@ded s.

Given ; Given:

F=20kN/m ,L,=6m F=40kN/m , L, =8m
L=9m,L,=3m L=12m, L,=4m
HadnfvInmsioe

C=40kN C,=106.67 kN

A, =80 kN A,=21333kN
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'ﬁﬂ‘ﬁ 9, 14 Tondnnnifadovos R.C. Hibbeler Engineering Mechanics Statics SI Edition

The 70 N force acts on the end of the pipe at B. Determine (a) the moment of this force about
point A, and (b) the magnitude and direction of a horizantal force, applied at C, which produces

the same moment, Take [ = 60°

i AT BN L R

| Fite-- Edit . Shell- Debug - Options -
|:Windows Help ~ ~  ° = .

i >>> import st 9
insert F:100.0
insert a:2.5
insert b:1.8
insert a:1.2
insert setar:50.0
(a) Ma= 252,622235596 N/m
(b) Fo= 101.048894238 N
| 5>> |

>»>> import =t 9

insert F:70.0

insert a:0.9

insert b:0,3

insert o0:0.7

ingert setar:60.0

(a) Ma= 73.9352447854 N/m
(b) Fo= 82.1502719638 N
> >

Ln; 160

(n) ()
o P a P
111" 4.9 llﬁﬂ\‘”'wﬂ3laﬂﬂzﬂllﬂgﬂﬁﬂ'ﬁﬂ1luu‘ﬂu“1ﬂﬂ171ﬂﬂu1ﬂsuﬂiuﬁﬂﬂ 9,

) uansgtuinTonddof o.

J /560999 3
(v) uwr94 Free Body Diagram doh 9.
o o v HG'
() uaawadnioindoyalonddod o.
w £ o 21‘2N;9I?
@) unasradninindeyaauy@fer o.
2563
Given : : Given :
F=70N,a=09m,b=03m F=100N,a=25m,b=18m
¢=07m , ©=60° ¢=12m,0=50°
HadNERIAMIA I

M, =73.9 N/m ,F, = 822N M, =252.62 N/m, F,=101.05 N
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A & ] -
Jo 10, 19 Tandvinastadodeuvesaniining

[y =3 aeas o J
v Inseadwduaasiugl ssinsanvuEal§ianh A ie a= 180 mm

C[ E
b
B“
= &
Ay By
WP

[ File Edt Shel Debug Options Windows
 Help '

|Hep.

i >>> import st 1

i| setar=(b/a)

d insert a;100.0
insaxt b:240.0
insext F:300.0
setar— 53.1301023542 degrees
Fa= 400.0 N
>

2 ]>>> import at 10

| setar=(b/a)
insert a:21¢.0
insert b:290¢.0

H insert F:450.0
setar= §54.0002769208 degreea
Fa= 621.4285871429 N
>>> |

Ln; 439

(n) )]
it 410 uanITwazsagiazaansdiisoaunnmdou i sunaudoed 1o,
() ueasgluinTonddod 1o,
(4) LL¥A4 Free Body Disgram ot 10.
(@) uanarndngorndeyalidded 1o.

w ay e
) werasradn i ndeyanmuyadei 10,

Given : Given_:

a=180 mm, b =240 mm ,F =300 N a=210mm,b=290 mm,F=450N
HaaWEnAMIf I

e =153.13° O = 54.05°

F, =399.99 N F,=621.42N
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49 11. 14 Tondninmisdouna R.C. Hibbeler Engineering Mechanics Statics S Edition

Determine the magnitude of the reactions on the beam at A and B. Neglect the thickness of the

beam.

A file Edit shel Debug Optlons W’mdow: -

i Hl:lp - .

| >>> import at 11

| insert F1:900.0
insart F2:500.0

Hl ingert aatar:30.0

j| insert a:6.0

£ H:Ip o

q »e> L-'rport &t 11

] insert F1:600.0
F21400.0
setar:15.0

> a:4.0

b:8.0
a:3.0
d:4.0
.370330516 N
527618041 N
0N
.180308942 N

Hl insert b:9.0

il inserct a:

il insert d:

fl By= 793.0 2 01892 N
§| o= 250.0 N

§| Ay— 540.0 N

i Fa= 595.063021872 N

Q) )
31]# a.11 uaasvazdvagliozsanisdriinannmsdou Tdsunsuded 1.
) uarngrlonTonddodt 11,
(4)) {7 Froe Body Diagram 96 11.
() uetnsradnsnindeyaTondded 11.
@) uanwadnivndoynmuyidedt 11.

Given: Given :
F,=600N,F,=400N, 0~ 15° F,=900N,F,=500N, 6 =30°
a=4m,b=8m,c=3,d=4 a=6m,b=9m,c=5,d=7
naansInmafuon

By=586N B,=793.0l N

A =104N,A =400N A, =250N,A =540N

F,=413N F, = 595.06 N
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dofi 12. 19 Tondenmiaffovns R.C. Hibbeler Engineering Mechanics Statics SI Edition

The shelf supports the electric motor which has mass of 15 kg and mass center at G, The

platform upon which it rests has mass 4 kg and mass center at G, Assuming that a single bolt B

holds the shelf up and the bracket bears against the smooth wall at A, determine this normal force

at A and the horizontal and vertical components of reaction of the bolt on the bracket,

i FHe _!dn Sheu Debu; Opﬁons andows i

4 Help

{ Fite Edit Shell. Debug Optmns W"ndow;'

f| Help

o> import st 12
insert ml1:15.0
insert m2:4.0
insert a:60.0
insert b:40.0
insert a:50.0
ingect d:200.90
insert «:150.0
insert g:9.81
Bx= 989.175 N
b= 989.175 N
By= 186.39 N
> |

| insert
insart
insert
insert
insert
insert
insert
insert

55 ]

I ove import st 12

mi:20,0
m2:12.0

g-:
Ba= 1422,
Ax= 1422,
By= 313.92 N

80.0

b:50.0
a:70.0
d:
a:180.0

250.0

9.1
415 N
45 N

@)

: o . d
71 4.12 ieRerwaziBuaglinsramedniinaumansdion Tusunsuded 12.

() uansganTmddodt 12.

(V) ueiAl Free Body Diagram 'ﬁﬂfll 12,
() udamadndondeyaTondded 12,
@ uanwadrinndeyama@ded 12.

Given : Given:
m,=15kg,m,=4kg,a=60mm m,=20kg,m,=12kg,a=80mm
' b=40mm,c=50mm,d=200 mm b=50mm,c=70mm,d=250 mm

e=150mm,g =981 m/s’ e=180mm, g=981 m/s



HAAWEDINMITATIIN
B, =989 N, A, =989 N

B,= 1864 N

B =142245N,A_=142245N

B,=313.92N

29
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do7 13. 19 Tondvinmisfoves R.C. Hibbeler Engineering Mechanics Statics SI Edition
Determine the force in each member of the truss and state if the members are in tension or

compression. Hint: The horizontal force component at A must be zero. Why?

Fep Fpy

)

- e x
| File Edit. Shell Debug Options - . |
1 Windows Hep - :
1>>> import st_13
E;lnsert ¥1:750.0
[l insert F2:900.0

Eiinsert a16.0

§ File Edit Shell Debug Options
Windows Help ' '
] »>> import at 13
insert ¥1:600.0
M insert F2:000,0
] Ainsert a:4.0
il ingert b:3.0
insert setar:60.0
rob= -400.0 N
| Fod= ~692,820323028 N
il Fhd= 666.666666667 N
1133.33333333 N

Er insert b:&,0
fl ingert satar;75.0

—232.937140592 N
-869.33324366 N
363.859445363 N
1029.52456871 H

(n) €)]

1 4.13 s wnsBuagiuaznamsduivaunansido Tilsunsudiof 13.
(n) uansgeinTandded 13,
(4) 4619 Free Body Diagram {6 13.
@) uanswadnsandoyalondded 13,

as ay d
(1) uaasradntndeyamuy@don 13,

Given : Given :
F,=600N,F,=800N,a=4m F,=750N,F,=900N,a=6m
b=3m,0=60° b=5m,0 =75
wadnionmsil

Fo= -400N,Fyp= - 692.82 N Fop= -232.94N,F = -869.33 N

F,, = 666.67N,F,, = 1133.336 N Fop=363.16 N, F,, = 1028.99



Joft 14. ¥ Tandvnmisdouss R.C. Hibbeler Engineering Mechanics Statics SI Edition

A force P= 80 N is applied to the handles of the pliers. Determine the force developed on the

smooth bolt B and the reaction that pin A exerts on its attached members.

0 Fite £dit shell O _
IWindows Help- - . f

>»> import st 14
insert P:80.0
insert a:31.75
insert b:127.0
ingert o:39,1

I Rb= 266.666666667 N
Ax= 0 N
Ay= 346.66666666T7 N

Q)]

() uerpaglonTonddod 14,

{v) 1oAY Free Body Diagram {I’EJ'I‘fll 14,
@) uaasmainiondoynTanddodl 14,
) udnswaanivindeynmy@dod 14.

x|

R

| File Edit Shell Debug - Options’
Windows Help

| >>> import et 14
insert P:130.0
insert a:42.,5
insert b:150.0

Il insert a:47.25

Rb= 412.698412698 N
Ax= 0 N

Ay= 542.698412698 N
>>> |

)
d . o d
710 4.14 uamsswazduagiinzronsduiivauonmadon T sunsden 14.

Given ; Given :

P=80N,a=3L75mm,b= 127 mm P=130N,a=425mm,b=150 mm
¢=138,1 mm ¢=47.25 mm

naRufoInAIAIIN

R,=267N Ry=412.7N

A, =347N A,=542TN

31
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Jo# 15. ¥ Tondninmisdsves R.C. Hibbeler Engineering Mechanics Statics SI Edition
Determine the greatest force P that can be applied to the frame if the largest force resultant

acting at A can have a magnitude 2 kN.

v+l

a+h

{File Edit Shell
| Windows Help

il File Edit Shell Debug Options

| Windows Help .

f| >>> import st 14
il insert F max:4500.0
l| insert a:1.5

insert b:1.25

g| >>> import st 14

il insert F max:2000.0

¥ insert a:0.75
insert b:0.756
insert c:0.5
insert 4:0.1
p= 742.781352708 N
>»>> |

a
b

il insert ©:0.9
d

insert 4:0.25
P= 1736.12758699 N
>»> |

) )

PILPRE tmm11uazxﬁunzﬂtmznnmsﬁuﬁmmmnnmﬁuuTﬂsuﬂwﬁaﬁ 15.
() uaasgton Tanddod 15.
(V) LA Free Body Diagram ‘ﬁﬂ‘ﬁl 15.
@) unsmadndvindeyaTandded is.

o g ﬂl
(@) urasmndwivindoyanuy@ded 1s.

Given : Given :

Fm=2,000N,a=0.75 m,b=075m Fm=4,500N,a= 1.5m,b=125m
c=05m,d=0.1m ¢c=09m,d=025m
HAaANEINNISAI

P=743N P=1736.13 N
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dof 16. Wlandonmisdouns R.C. Hibbeler Engineering Mechanics Statics SI Edition

Determine the shear force and moment acting at a section passing through point C in the beam.

{ File ‘Edit Shel Debug Options | TFile Edit Shell Debug Options

| Windows _Help
»>>> import st 16
#l insert w:b.0
insert a:8.0
insert b:21.0
Ay= 17.5 kN
Mc= 119.682539683 kN
Ve= 9,88095238095 kN

>>> |

3 Windows Help

(| TEEE————

Il >>> import st 16
insert w:3.0 p
insert a:6.0

H insert b:18.0
Ay= 9.0 kN
Ma= 48.0 kN
Vo= 6.0 kN
>

n: 599

(n) @)

zd'ﬁ 4.16 uﬁﬂaswam?)Uﬂzﬂuasnamsduﬁumumﬂnmﬁ‘muTﬂsunswﬁaﬁ 16.
() uaegalonTandded 6.
(V) (18R Free Body Diagram o 16.
) naamadnivindoyalmédodt 16.
@ uansnadnnndeyamuy@ded 16.

Given : Given :
w=3kN/m,a=6m,b=18m w=5kN/m,a=8m,b=21m
HOAHDLINMITANIN

A,=9kN A,=17.5kN

M,, =48 kN/m M, =119.68 kN/m

V,=6kN V=9.88 kN
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dovi 17. 14 Tondnnwmitadfoves R.C. Hibbeler Engineering Mechanics Statics SI Edition
Determine the normal force, shear force, and moment at a section passing through point C.Take P

= 8§ kN.

: NSO Tty SR LU T R R
il File. Edit Shell -Debug. Optio : File Edit Shell Debug Options
Windows Help ' B

15> import st 17 : 1>»> import st 17

i Windows Help

| insert P:8.0 - insert
insert a:0.75 1 insert
insert b:0.75 il insert
ingert c:0.75 i il insert
insert d:0.5 insert
 insert r:0.1 it insert
T= 30.0 kN
Ax= 30.0 kN

| Ay= B.0 XN
No= -30.0 kN

il ve= 8.0 kN
Me= 6.0 kN/m | 19.25 kN/m
»> | |

(™ ()
it 417 uraswazBuaglimsranssuiinamnnmadon Tusunsuded 17
(m namsgleinTandded 17.
(4) 1EYAY Free Body Diagram T8 17.
(@) uansradwirnderyaTenddefl 17,

v ay A
() uaaswnaninndeyaauy@den 17.

Given : Given :
P=8kN,a=0.75m,b=0.75m P=11kN,a=1.5m,b=1.25m
¢=075m,d=05m,r=01lm ¢c=175m,d=2m,r= 05 m
HaANEINMIERIHIN

T=30kN,A =30kN,A=8kN T=19.8kN,A.=19.8kN,Ay=llkN

N.=-30kN, V. =-8 kN, M= 6 kN/m N, =-19.8 kN, V,=-11 kN, M, = 19.25 kN/m



dioh 18. 19 Tandarnmiadeves R.C. Hibbeler Engineering Mechanics Statics SI Edition

The shaft is supported by smooth bearings at A and B and subjected to the torques shown.

Determine the internal torque at points C, D, and E.

I File Edit Shell Debug Options |

| Windows Help_

il > import st 18
insert M1:400.0
insert M2:150.0
insert M3:550.0
To= 0 N/m
Td= 400.0 N/m
Te= 550.0 N/m
»>»> |

(M)

M, T, My M, Ty;
T £ P Fal #
o - [
“"ﬁr v -

)

i Fite it shel
| Windows Help = "~

i >>> import st 18
)| insert M1:520.0
insert M2:270.0
ingert M3:670.0
To= 0 N/m
Td= 520.0 N/m

0]

{ a & =
17 4.18 uamanunzduaglinzsamisaniuauninmadou Tusunsuded 18,

() usraagiloinTonddod 18,

o
(V) (179 Free Body Diagram Y671 18,

o )
(@) uerasrndninndoyalimddod 1s.

- ay o
@) uaaswadnivindoyamuy@don 1s.

Given :
M, =400 N/m , M, = 150 N/m
M, =550 N/m

HaAWTIAMIR I
T,=0

T, = 400 N/m

T, = 550 N/im

Given :
M, =520 N/m , M, = 270 N/m
M, =670 N/m

T,=0
T, = 520 N/m
T, = 790 N/im

35
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A ar L =
Yot 19, ¥ Tandvindredudeasuvosaniinans
& o A ar o J’ 3 o ] =< L4
ONITIHANWTG 1000 N AszAUANGS 1.5 m Fanniy Foeoonusananimladasei v

[ »
napen auudIiwaginnumninyinuiaieg

L.2m b . >

]
v

| Windows Help

Teile Edit Shell Debug -

()

| File- Edit Shell Deb
| Windows Help . -

>»> import st 19
3| insert m:1000

>>> import st 19
insert m:1600.0

insert y:2.1
insert mew:0.8
F= 571.428571429 N

fl insert y:1.5
insert mew:0.5
F= 333.333333333 N
>>> |

Q) ()
qil 4.19 uﬁmswasnﬁunzﬂntn:nnmsﬁnﬁmmmnmsﬁmuTﬂmmm‘j’aﬁ 19,
() uermagileinTondded 19,
(v) Uo'A4 Free Body Diagram ﬁﬂﬁ 19.
() udasradninndoynTanddod 19.

o - A
@) uansradninndoyaauyadon 19,

Given : Given :

m=1,000N,y=15m, {is=0.5 m=1,500N,y=2.1m, is=0.8

HOGWB9INNSAIIN
FS = 500 FS = 1,200
F=33333N F=57143N
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A hd 1 Lo
o 20. 1 Tonduadndindedevvasaninans
v
= -~ o aor = q’ = 1 L. a
RoanduTonzdegy ddulszdninmuBeanunda () liswviiu 0.4 dmiuyn
a w w - do Jd d 4 v A dy S
Ao sesemunauss P fidesfiqafii iduTansdwmdnSunteunddulans

1 4
daudeiiuan 200 kg uazdu Tanzdmuniinig 100 kg

[rite Edt snell-

7 : fﬂe EdR”*Sth ‘62589 Options
|| Windows Help . '

E “Aﬁndﬁﬁs_'_'.l-_le'lp_ 3

»>> import st 20
insert m1:100.0

g
1 insert m2:200.0
|l insert mew:0.4
d| Fi= 392.4 N
F2= 784.8 N
P= 1177.2 N

(®)

>>»> import st 20

| snsert m1:150.0

insert m2:280.0
insert mew:0.8
Fl= 1177.2 N
F2= 2197.44 N
p= 3374.64 N
>5>> |

MHﬁﬂCdﬂs

€))

glh""l 4.20 1mmﬂunmﬁmzﬂunzﬂan1'sn"1tﬁm1un'mn'miuuTtlmnm-n’J'aﬁ 20
(@) uarasgaloinTonddedt 20.
(%) 111914 Free Body Diagram 467 20.
@) uanraimivindeya Tl 20.

v ay d
(9) uarasnadwsnndeyasu@den 20.
Given : Given :

m,=100kg , m,=200kg , Hs=04 m,=150kg , m,=280kg , Us=0.8

o f
HOANTIINATTRIUIN
F,=3924N, F,= 784.8 N
P=1,177.2N

F,=L177.2N,F,=2,197.44 N
P=3,374.64 N
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do#t 21. 19 Tendvnmisdeves R.C, Hibbeler Engineering Mechanics Statics SI Edition
If the horizontal force is P = 80 N. Determine the normal and frictional forces acting on the 300 N

crate . Take s =0.3 ,)lk = 0.2

i File: Edit Shel
| Windows Help

File Edit Shell Debug

Options.
D Windows Help |

¢ >>> impert st 21

il insert W:500.0
insert P:190.0
insert mew s5:0.4

t insert mew k:0.3

1l insert setar:35.0
Fo= 131.149329761 N
Na= 51B8.555545051 N
o>

| >>> import st 21
insert W:300.0

| insert P:80.0
insert mew 3:0.3
insert mew k:0,2

l insert setar:20.0
Fc= 27.4306333348 N
Na= 309,269397702 N
>>> |

. |Lm 705

m 7l

(m )
it 421 uﬂmiwazlﬁmzﬂuazﬂnmsﬁnﬁmmmnnmw‘]uﬂﬂsunmﬁaﬁ 21.
() ugasglninlonddod 21,
(V) 471A¢ Free Body Diagram 1’1’01‘% 21.
() usrnsradniondoyaTondded 21,

v o a |
@) wrasnadnsvIndeyamnAden 21.

Given : Given :

w=300N,P=80N, s =0.3 w=500N,P=190N, ls = 0.4
llk=0.2,9=20° l.lk=0.3,0'=35°

wadws 9InmMIfn

F.=2743N F.=13LISN

N.=309.27N N.=518.56 N
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" o [ -
doh 22. W landvindrothedeaonvesanidnng

e . d
SamifAGy)UBIAgUEnaIa(centroidyvas gL Aty

PR N

Yo 3 4 4 "'I‘""?"""’.

% ) o) NG

() )

3 File Edit .Shell _ﬂebug 0phqns- -
i Windows Help =~ '

>>> import st 22
insert x1:5.0

#insert x2:7.0

| insert x3:5.0
insert x barl:3,33
insert x bar2:8.5
insert x bar3:13.66
insert y1:10.0
ingert y2:10.0
insert y3:160,0
ingert y barl:3.33
insert y bar2:5.0
insert y bar3:3.33

>>> inport st_22
il insert x1:3.0
insert x2:4.0
insert x3:3.0
ingert x barl:2.0
ingert x bar2:5,0
insert x bar3:8.0

insert y1:6.0
insert y2:6.0
insert y3:6.0
insert y barl:2.0
insert y bar2:3.0
insert y bar3:2.0

Al= 5.0

A2= 24.0

A3= 9.0

Ax bari= 18.0
Ax bar2= 120.0
Ax bard= T72.0
Ay barl= 18.0
Ay bar2= 72.0
Ay bard= 18,0
sum A= 42.0

sum Axbar= 213.0
aum Aybar— 108.0
X bazr= 5.0

Y bar= 2.57142857143
>>> |

A= 25,
R2= T0.
A3= 25.

Ax barl= B83.25

Ax bar?2= 595.0

Ax bar3= 341.5
barl= B3.25
bar2= 350.0
bar3= 83,25

sum A= 120.0

sum Axbar= 1019.75

sum Aybar— 516.5

K bar= 8.497%1660667

¥ bar= 4. 30416666667

> |
: InBH

("} 0))
71t 4.22 uarmaswaz@uagiliasnamaduiuaininmsdon Tsunsuded 22.
) uarasgrlonTonddofi 22.
(%) LE(AY Free Body Diagram {0 22.
() uaasradninndeyaTonddod 22.
(@) nanwadwivindeyaduAdei 22.



Given :
X,=3,x=4,x=3,
% -2,%-5,% -8
¥1=6,¥,=6,y,=6
Vi-2,¥2=3.v3-2

HadNS 9InNITAIMIN

40

Given :
=5,%=7,%=3

% =3.33,%; =8.5,%; =13.66
y,=10,y,=10,y,=10
¥1-333,¥2-5,¥5 -3.33
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A a =
dof1 23. 14 lendoindedredomeuvasanideing

=y a o o J’ A o
sefinsanmAfavesgariunsesd Tununy x vesiuhdaraalugy

6mm, EBmm

J Fle Edit Shel Debug
éZHdP‘: ‘

{Hep

T»»» import st 23

-

| insert
insert
insext
insert
inmert

x1:14.0
yl:20.0
r2:4.0

x barl:7.0
x bhar2:6.0

Al= 280.0 mm

A2= 50.2654824574 mm

A x barl= 1960.0 mm

A x barZ= 301.592694745 mm
sum A= 225.734517543 mm

gum A x bar= 1658.40710526 mm
x bar= 7.21879812836 rmm

()

>»> import st 23
| insert x1:18.0

insert y1:25.0

insexrt r2:6.0

insert x barl:9.0

insert x bar2:8.0

Al= 450.0 mm

A2= 113.,097335529 mm

A x barl= 4050.0 mm

A x bar2= 904.778684234 mm
Bum A= 336.902664471 mm
sum A X bar= 3145.22131577 mm
x bar= 9.33569736145 mm

$)

11 423 ugmsswazBuaglinzramsdiuauvinasdou Tilsunsuded 23
() urrasgileanTonddoit 23.
() e Free Body Diagram ‘ﬁﬂﬁ 23,
(®) udnsradniondeyaTanddod 23,

w ay 4
(@) unpanaininndoyamugidedn 23,

Given ; . Given :
x,=14,y=20,r,=4, x,=18,y~=25,r,=6,

%1=7,%; =6 X =9,% -8

HadWT MINMI RN

X=7.22 mm X=9.34 mm
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A o r =3
Jon 24.14 Tandnindredadeaevvesaniining

ar

= oW ¢ ¥ 4
seRnsarMRtAvesgaEunsess Tunuaun y vosuiidwaaslug

6mm, Smm

H Fite  €dit  Shell De_ Qptions nduws ‘

4. Help - S
55> import st_24
| insert x1:14.0
 insert y1:20.0
ingert r2:4.0
Insert y barl:10.0
inaert y bar2:12.0
Al= 280.0 mm
A2= 50.2654824574 mm
A y barl= 2800,0 mm
A y bar2= 603.185789489 mm
gum A= 229.734517543 mm
sum A y bar= 2196.81421051 mm
y bar= 9.56240374328 mm
> |

(R)

File Edit  Shell Debug- Options

1>>> import st 24

insert x1:16,0

insert yl1:25.0

insert r2:6.0

insaert y barl:12.5%5

insert y bar2:14.0

Al= 450.0 mm

A2= 113.097335529 mm

A y barl= 5625.0 mm

A y bar2= 1583.36269741 mm
aum A= 336.902664471 mm
sum A y bar— 4041.6373025% mm
y bar= 11.9964539578 mm

(V)

it 424 uﬁms1unzxﬁun;1JunznamsﬁnﬁmmmnmnﬁuuTﬂstlnsnﬂaﬁ 24
@ ustnsploinTonddof 24,
(4) {eR4 Free Body Diagram $ofi 24.
() usnwadnsondoyalindded 24,

ar - A
) urasnaaninindeynauyided 24.

Given : Given :
x,=14,y=20,r,=4, x,=18,y=25,r,=6,

v1=10,¥, =12 ¥ -12.5,¥; - 14

HARHEDINMTANIN

V= 9.562 mm
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ofl 25. 19 Tondonmlsdouns R.C. Hibbeler Engineering Mechanics Statics SI Edition

Determine y, which locates the centroidal axis x' for the cross-sectional area of the T-beam, and

then find the moments of inertia Ix' and Iy'.

& File Edit 15hd| Debug  Optiens - -
| Windows Help B
i >>»> import st 25

insert a:35.0

i >»> import at 25

} snsert a:25.0

| insert b:250.0
insert o0:150.0

H insert d:150.0
y bar= 206.818181818 mm
Ix= 221638257.576 mm*4
Iy= 115104166.667 mm” 4

Lri: 404

!in:ert d:175.0
Hy bar= 272.712765957 mm
IIx= 725790578 .457 mm*4

Q) | ()
1 4.25 uaneswazBuaglunsromsdiiuauninmsdou Tslsunsudef 25
) tamsgoin Tond<ofl 25.
(4) 6P Free Body Diagram ofl 25.
) unasradninindoyalonddod 2.

w ay d
() uaasnnaniindeyamuyAten 25,

Given : Given :

a=25mm,b=25 mm,c¢=50mm a=35mm , b=330mm , ¢=75mm
d =150 mm d=175 mm

naANH9INNITR MY

¥ =207mm , L' = 222 x 10° mm' y=272.71 mm, L' = 726 x 10° mm"

1'= 115 % 10° mm" I,'= 277 x 10° mm'
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Jo% 26. 14 Tondvinmilsdoves R.C. Hibbeler Engineering Mechanics Statics SI Edition
Determine the product of inertia for the beam's cross-sectional area with respect to the x and y

axes that have their origin located at the centroid C.

44

File. Edit, Sheli Debug -

{| File EdicShell Debug

1 Options Windows Help [ | Optiogs_ Windows Help "~~~

f§ >>> import st 26 f )| >>> import st 26

il insert a:1.,0 | §l insert a:2.0
insert b:5.0 Il insert b:7.0
insert a:5.0 insert c:8.0

Ixy= -110.0 mm*4 Ixy= —-630.0 mm*4
»>> |

 iLm: 431

Q) ()
it 426 namanvazdvaglazremadaituannnmadon Tsunsuded 26,
() usrmsgtlornTamdded 26.
(V) {151A4 Free Body Diagram ‘ﬁ.ﬂﬁ 26.
@ ugnmainiondeyalonidod 2.

() unmadwinndoyneyided 26.

Given ; Given :
a=1lmm,b=5mm,c=5mm a=2mm,b=7mm,c=8 mm
HARNT9INATANIN

I =-110 mm' I =-630mm'

Xy Xy




< - . . . . , -
dof 27, 1 Tandvinmlsdeuss R.C. Hibbeler Engineering Mechanics Statics SI Edition

Determine the moments of inertia Iu , Iv and the product of inertia Iuv for the beam's cross-

sectional area.Take © = 45°

| Fle Edit Shel Debug Options | | File Edit Shell Debug Options

i| Windows Help Ul ‘| Windows Help _

1>»> import st 27 o | 1>»> import st 27

| insert a:8.0 : insert a:6.0
insert b:2.0 : insert b:4.0

j| insert c:2.0 ' ingert «:3.0
insert d:16.0 insert d:20.0

i insert setar:45.0 ; insert setar:30,0
Ix= 5514.66666667 mm”*4 Ix= 21513.3333333
Iy= 1418.66666667 mm"4 1y= 2853.33333333

| Ixy= 0 mm*4 Ixy= 0 mm*4
Iu= 3466.66666667 mm™4 . Iu= 16848.3333333
Iv= 3466.66666667 nm"4 Iv= 7518.33333333
> I >>>

(") )
7 427 uarneswasBuagunsransduiiveniems@ou Tosunsuded 27.
(n) urasguninTonddei 27,
(v) UAIAY Free Body Diagram ﬁﬂﬁ 27.
(7) uerasHadnivindoya Tondded 27.

w ay o
() ueraswadntvindoyaauyadodn 27.

45



Given :
0=45°,a=8mm,b=2mm

c=2mm,d=16 mm

HAAWSINMISAIIN
1 =5.515 x 10" mm’
1= 1419 x 10’ mm"*

4
Ixy= 0 mm
I, = 3.47 x 10’ mm"

I, =3.47 x 10’ mm’

Given ;
©=30°,a=6 mm,b=4mm

c¢=3mm,d=20mm

I =2.151 x 10’ mm’

I, =2.853 x 10’ mm’
4

I, =0mm

I,=16.848 x 10’ mm'

I, =7.518 x 10’ jm’

46
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$of 28. 14 Tandnnniledovss R.C, Hibbeler Engineering Mechanics Statics SI Edition
Determine the force F needed to lift the block having weight of 100 N. Hint: Note that the

coordinates S, and S, can be related to the constant vertical length 1 of the cord.

[ File Edit- Shel
Windows Help -

>>> import st 28 ' >>»> import st 28
insert W:100.0 insert W:170.0
F= 50.0 N F= 85.0 N

>>% | : >>> |

(A) S

it 428 uﬂmswnzxﬁunpJuazwamiﬂ"uﬁmmmnmni’iuu'[ﬂmﬂm‘ﬁ'aﬁ 28
() nansgtlonn Tonddef 28,
(%) LLYAY Free Body Diagram Yo7 28.
() ueasrndvsnndeynlandded 2s.

o - A
(@) uarasHadninndoyaauyded 28,

Given : Given :
w=100N w=170N
HABWEINAIR U

F=50N F=85N
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Yot 29. 19 Tandanmisdeves R.C. Hibbeler Engineering Mechanics Statics SI Bdition
The two bars each have weight of 8 N. Determine the required stiffness k of the spring so that the

two bars are in neutral equilibrium when © = 30°, The spring has an unstretched length of 1 m.

Datirnt

' AN
['File - €dit. Shell Debug Options
| Windows  Help

| File Edit " Shell Debug  Options
| Windows Help

i >>> import st 29
il insert w:11.0

; »»> import st 29

| insert w:8.0

2l insert setar:30.0

fl insert delta:1.0
insert a:2.0

k= 2.81165483912 N/m
It >>> |

i ingert setar:45.0
insert delta:1.5

il insert a:3.5
= 1.59431959891 N/m
b

(") C))
it 420 wansswaziBapluaznamaduivansnma@on Tusunsuded 29,
(n) uasgilainTonddof 29,
(v) 4e'A4 Free Body Diagram ‘ﬁﬂﬁ 29,
(7) nanwadniondeynlonddai 2.

@ ay A
) uanseadninndoyamm@den 29,

Given : Given :
w=8N,0=30°,0=1m w=11N,8=45°,8=15m
a=2m a=35m '

o o
NAANTVINNITATUIN

k=2.812N/m k =1.594 N/m
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dofi 30. M Tandvinmisdiouns R.C. Hibbeler Engineering Mechanics Statics SI Edition
Rods AB and BC have centers of mass located at their midpoints. If all contacting surfaces are

smooth and BC has mass m,determine the appropriate mass m,; of AB required for equilibrium.

I

A

a-File... Edn Shell Debug Ophons “fndo“u i

E Help

| 2> lnport at 30

5 insert Mbo: 130.0
insert a:1.5
insert b:1.75
ingert a:3.5

3 Fite: Edit  Shel
AHelp
4 >>> import st . 30
| insert Mbe:100.0
{l insert a:0.756
insert b:1.0
Il insert o:2.0

insert d:2.5
L1= 2.,30488611432 m
L2= 4.30116263352 m

il insert d:1.56

L1= 1.25 m

L2= 2.5 m

setar= 36.8698976458 degrees
phi= 36.8698976458 degrees
Mab= 100.0 kg

>

setar= 35.537677792 degraes
phi= 40.601294645 degrees
Mab= 156.0 kg

> |

() Q)
31hi 4.30 uamsrwazidragiluazsamsduiiiauninaon Tlsunsuded 30
() udrasgilern Tonddiod 0.
(%) uaAY Free Body Diagram 'tl’ﬂﬁ 30.
(7) uansradntondoynTondded 3o.

@) tamwradniondoyamuydded so.

Given : Given :
my,=100kg,a=075m,b=1Im my,=130kg,a=15m,b=175m
c=2m,d=15m ¢=35m,d=25m

o o
HAANT9INMIA I

m,, = 100 kg m,, = 156 kg
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manlanddamiaamsmiuiudeislng

.:l a
Jof 1. 19 Tandninmisdove R.C. Hibbeler Engineering Mechanics Statics SI Edition
The boat is to be pulled onto the shore using two ropes. Determine the magnitudes of forces
T and P acting in cach rope in order to develop a resultant force of 80 N, directed along the aa

keel as shown. Take © =40°,

4 - =y cl
Fun al uﬂmiwazlﬁmgﬂluaznamsmmmmmﬂmiﬁ'JuuTﬂmnsm’J’an |
=
() terasgalnnTomdvan 1.

A
(4) 110/A4 Free Body Diagram 10 L.

Given : Given :
0=40°,0,=30°,F, =80 N 9 =60°,0,—40°,F = 100N
Solution : Solution :
Fy T Fy T
sin[180°-(6+8,)} “sin® sin[180°—(0+84)] “sinB
F1 sin© T F‘ sin@

= 5In[180°—(6+6,)] ~ sIn[180°—(6+8,)]

_ 80 sin(40) _ 805sin(60)
" sin[180°—(40+30)) sin[180°—(60+40)]
T=547N T=87.94N
ry P Fy P
sin[180°-(848,)] sin©, sin[180°—(0+0,)} sinOy
Fysin8, F,sin9,

~ SIn[180°—(6+64)]  Sin[180°—(8+04)]

52



805in(30)

- sin[180°—(40+30)]

P=426N

_ 80sin(40)
" sin[180°—(60+40)]

P=6527TN

‘-'-i or
Joh 2. M lendanmisdovss R.C. Hibbeler Bngineering Mechanics Statics SI Edition

Determine the x and y components of the 800 N force .

(n)

)

i o A d
g1 n.2 uaneswazdoagliozramamiiuannns@ou Tlsunudoh 2

el
(n) uanazornTondden 2.

() ueAd Free Body Diagram 4% 2.

Given :

F=800N,a=60°,p=40°

Solution :

—+F = Fsinf
F = 800 sin (40)
F,= 5142N

+1 E,=-F cos p
F, = -800 cos (40)

F,=-6128N

Given :

F=1,000N,0=45,3=30°

Solution :

—+F_ = Fsinf}
F, = 1,000 sin (30)
F,= 500N

+1 E, =-Fcos f}

F = -1,000 cos (30)

F, =-866.03 N

53



54

4 o
4o 3. 14 Tondainmiadtovea R.C. Hibbeler Engineering Mechanics Statics SI Edition
Determine the magnitude of the resultant force and its direction, measured counterclockwise

from the positive x axis.

N
(m) LD
o a Ty ~ v d
U A3 uﬂms1uazmungﬂamznamimmuﬂumnmswuuwiunswuan 3

o
(n) iermagaloin Tendden 3.

d
(1) 1A Free Body Diagram 901 3.

Given : Given :
F,= 800N, F,= 600N, @ =40° F,=1,200 N,F,=900 N, 0= 60°
c=12,d=35 =10,d=13
Solution : Solution :
—>+ Fp =ZF_; F, F, cos 6 - Fz(ﬁ) —+F,, = YF ;F, F cos© - rz(ﬁ)
12 10
F,, = 800 cos(40) — 600*( =) Fi, = 1,200 cos(60) - 900( Jz3)
F,, = 59N F, =-262.04N
B d =YF : H ——d
+1 Fy, =XF, ; Fy F sin © - Fz(ﬁ) +] Fy, = ZF, ; F F sin 6 - F’(W)
5 . 3
F,, = 800 sin(40) - GOO(W) F,, = 1,200 sin(60) - 900(@)
Fyy = 745N Fyy = 1,297.84 N

Fp= ’(f"m.)2 + (Fy)? Fe= ‘(an)2 + (Fry)?

F,=V597 + 7452 F,=/—262.04* +1,297.84?




F.=T41N F =1324.03 N

- @.) - (ﬁ) _ (h) B (1.324.03)
o atan(FRK atan 29 0 = atan T = atan ~262.04
o= 85.5° o= -78.81°

A ar " -
Joti 4. 14 Tanda1nA206 199 0HDUVDIANTIAINT

e lugguaadasssoznilsinnzauga

Q) ()

i o A o
3 n4 nemasuasBoagunzranmsdiivnuvinmsdiouhisunaudon 4
d
(m) namagalonTonddon 4.

4
(1) 11@R 4 Free Body Diagram Jov 4.

Given : Given :
w= 1,000 N, k=1,000 N/m w=1,750 N, k= 1,200 N/m
Solution: Solution:
= tan" (%) =36.86° 0=tan" (f‘—*) =36.86°
F=wsin© F=wsin ©
F = 1,000 sin (36.86) F = 1,750 sin (36.86)
F= 599.86 N F= 1,049.76 N
F=k8 F=kS
599.86 = 1,000*S 1,049.76 = 1,200*S
_ 599.86 _ 1,04976
1,000 1,200

$=059m $=0.88m

55
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o 5. 1 TendonndretudoneuvssanIfins

L] o or A or 1
AU AD S5 9UU1R 40 N $wam 2 isanseviaagy Tasnaudigasesiunuudunivly
A A - kN 4 o o
fufign D uazgrasaiudaududen BE Hasdaodinimin w = 100 N 2aHNTAHING

[]
el

jiTenga D

s n.s waasswazduaztiasamssuiiununams@ouhilsunsuded s.

el
(n) uermagiloinTonddon s.

|
{%) 1L@e Free Body Diagram Joh 5.

Given : Given :
F,=40N,F,=40N,w=100N Fl=60N,F2=50N,w=l40N
a=4m,b=4m,c=5m a=6m,b=7m,c=8m

Solutton : Selution :
+}ZF,=0;100-40-40-F;~0 +12F, =0; 14060 -50-F=0
F,=20N F,=30N

@le - 40*(8) — 40%(4) + 100*(5) (’:‘M,f - 60*(13) — 50%(T) + 140%(8)
M= 20 N/m M= -10N/m

M=20N/m O¥ M= 10N/m P
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497 6. 14 Tondvinmisdouna R.C. Hibbeler Engincering Mechanics Statics SI Edition
Cords AB and AC can each sustain a maximum tension 800 N. If the drum has weight of $00 N,

determine the smallest angle © at which they can be attached to the drum,

() W)

dl = ] = W cl
51 n.6 naAaswazdeaguazpanssiivaunnnation Tusunsude 6.

d
(n) nanazilen Tonddoi 6.

| A
(V) 1igrA4 Free Body Diagram JoM 6.

Given : Given :
T=800N,w=900N T=1200N,w=1400N
Solution; Solution:
+1%F, =0, w-2Tsin@ =0 +1ZF,=0; w-2Tsine=0
a1 fw Wein St [

0 =sin E) 0 =sin 21,)

g 900  ein—1 1400
6 -sin (z(soo)) 6 ~sin (z(:.znn)

©=734.2° 6 =135.69°
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w130 M1 1Aved Tumsdgn I (Couple) YBaszUBS AT Wi

0.5m — .
A

"SkN

[— Tm—
(n)

¥

R LY

05m -~

0.4F

;',
4 N-L | |

o
8T
Im

2 m=~m
Im”. X o o

(V)

50 0.7 namaswazBoagluazransdutivaiunmsdouTisunsuden 7.

.4
(n) naasgrionTonddon 7.

Pl
(V) 1ti'AQ Free Body Diagram Joh 7.

Given :
x=25m,y=3.0m,0=30°
F=5kN

Solution :

X-Z-125, §a2=1$

) 2ZM=Fcos©*x =0
XM =5 cos (30) * 1.25=5.41
ileaindi 2158 ; 5.41%2
M, = 10.82 kN/m
EM=Fsino*§ =0
LM,=5sin (30) * 1.5=3.75

A
(1099708 2 1153 ; 3.75%2

Given ;

x=35m,y=45m,6=45°

F=7.5kN

Solution :

LW 3.5 — 45

XA TR 175 , ¥~ —2--2.25

LM =Fcos©*X =0

XM =7.5cos (45)* 1.75=9.28
& =

UMY 2 1153 ; 9.28*2

M, = 18.56 kN/m
('BZMstinG*? =0
LM =7.5sin (45} * 2.25= 11.93

& =
1HDI9INY 2 1154 ; 11.93*2



M, =7.5 kN/m M, =23.86 kN/m
IM=M, +M, IM=M,+M,
M= 10.82+7.5 M= 18.56 +23.86
M= 1832 kN/m M= 42.42 kN/m

Joi 8. 19 Tandoingrodadonsuvosamining

o e -~ oy o B A
dwmsunnuazunanmaldusanssihidsgyl sinsanmusalfisohiga A

20 kN/m

(m) (V)
H = — 4
giing uﬁmswa:muagﬂuazwamimmmmmnn'liﬁ'muTﬂ'iumu'ﬁ'an 8.

P
(n) tirasgiloin Tonddoh 8.

. y o
() 1t&A9 Free Body Diagram 991! 8.

Given : Given :

F=20kN/m , L, =6m F=40kN/m , L,=8m
L=9m,L,=3m L=12m, L,=4m

Solution : Solution :

D IM,= 0;-20%6)*EHC,9) =0 ) TM,= 0 40*8)*(@)+C,(12) =0
C,~ 40 kN C, = 106.67 kN

+1ZF,=0; A +C-20(6) =0 +12F, = 0; A+ C40(8) =0

A = 120-40 A, =320-106.67

A,=80kN A, =21333kN

59
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Joh 9. 14 Tondvinmiadioves R.C. Hibbeler Enginecring Mechanics Statics SI Edition
The 70-N force acts on the end of the pipe at B. Determine (a) the moment of this force about
point A, and (b) the magnitude and direction of a horizantal force, applied at C, which produces

the same moment, Take © = 60°

A.

— g

() )

il n.g uanswazBuagduazmansafivanniamsdouhilsunsudeh o.
(m uerasgonlandfoi 9.

(V) nerad Free Body Diagram Y0¥ 9.

Given : Given :
F=70N,a=09m,b=03m F=100N,a=25m,b=18m

¢=0.7m , ©=060° ¢=1.2m,0=50°

Solution : Selution :

(a) (a)

@MA=Fsin9*c +F cos O%a mMA=Fs'm O*c + F cos O*a

M, = 70 sin{60}*0.7 + 70 cos(60)*0.9 M, = 100 sin(50) *¥1.2 + 100 cos(50)*2.5

M, = 73.9 N/m M, = 252.62 N/m
(b} (b)
F*a=M, F.*a=M,
Ha _Ma
c a € a
732 _ 252.62
F09 ¢ 25

F,=101.05N



{oft 10. 1 TondnndrntadoaouvyeIan1dInang

or - RS A A
nnTnssadesaaaluzy ssfinsanusnlfiionh Ao a= 180 mm

my

240 mm

(n)

)

31 n.10 ueaswazduagluozromsdniuanonmsdouTilsunaudeh Lo.

() teraazilonTandted io.

A
(1) EPA Free Body Diagram 487 10.

Given :

a= 180 mm,b=240 mm,F=300N

Solution :
o= tan"(g)
0= tan'!(ég%)
e =753.13°
F,=Ftan©

F, = 300 tan(53.13)

. =399.99N

Given :

a=210mm,b=290 mm,F=450N

Solution :
0=tan'()
o= tan‘l(%)
0 = 54.09°
F,=Ftan©

F, = 450 tan(54.09)

F,=62142N

61



A -
fon 11. 19 Tanduinmiafieveq R.C. Hibbeler Engineering Mechanics Statics SI Edition

Determine the magnitude of the reactions on the beam at A and B. Neglect the thickness of the

beam.

Q)]

| -
Ay G
Ay
A | A8
p— b | B,

(v

. Py, 4
51 n.11 uanenwazBagiliazramsdiiiuvammnmadoulsunsuden 11,

d
(m uanaglenTondded 11.

=
(40) LIRS Free Body Diagram 407 11.

Given :
F,=600N,F,=400N, 6 = 15°
a=4m,b=8m,c=3,d=4

Solution ;
+ —-0-
OEMA— 0;

By(a +b)-F,cos0%a+b)-F*a=0
_ Fz cose(a+ b)+ Fysa

Y at+bh
B - 400 cos(15)+(4 + B8)+ 600+4
¥

1448

B, =586 N

—r+XF=0; A, -F,sin(@)=0
A,=F,sin ©

A, =400 sin(15)

A, =104N
+1ZF,=0;A,—F,cos0 +B, - F, =0
A =F,cos0-B +F,

A, = 400 cos(15) - 586 + 600

Given :
F,=900N,F,=500 N, 0 =30°
a=6m,b=9m,c=5,d=7

Solution :
@EM =0,

By(a +b)-F,cos *(a+b)-F*a=0
F; cosa+(a + b)+ Fy»a

a+b
500 cos(30)+(6 + 9)+ 90046

6+9

B, =

By=
B,=793.01 N

—+ 2XF=0; A, - F,sin(@) =0

A =F,sin0

A, =500 sin(30)

A, =250N
+]ZE=0;A,-F,cos0+B,-F, =0
A=F,cos0-B +F

A,=500 cos(30) - 793.0L + 900
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A, =400N A, =540N

F,= ’sz + Ay F, = ’sz + Ay
F, =V1042 + 4007 F, - V2507 + 5407
F,=413N F, =595.06 N

‘ITﬂﬁ 12, 14 Tondoinmiaitound R.C. Hibbeler Engineering Mechanics Statics SI Edition

The shelf supports the electric motor which has mass of 15 kg and mass center at G,. The
platform upon which it rests has mass 4 kg and mass center at G, Assuming that a single bolt B
holds the shelf up and the bracket bears against the smooth wall at A, determine this normal force

at A and the horizontal and vertical components of reaction of the bolt on the bracket.

(M) )

It 012 uemssiwazBuagliazramsduiiunuoamiiouTlsuns udon 12,
P
(m naasgloinTandded 12.

"]
(%) UEAq Free Body Diagram Jon 12

Given : Given :
m,=15kg, m,=4kg,a=60mm i, =20 kg, m,=12kg,a=80mm
b=40 mm, ¢ =50 mm, d =200 mm b=50mm,c=70 mm, d =250 mm
e=150 mm, g =9.81 m/s’ ¢=180 mm, g =9.81 m/s’ |
Solution : Solution :

NV 32uM, -0, PVem,-o0;
B, *a-m,*g*d - m*g*(d +e}=0 B,*a-m,*g*d - m*g*(d +e)=0
B = mysged + mysga(d + e) B = maegrd + misge(d + €)

x a K a



B = 4%9.81+ 200 + 15+9.81 (200 +150)

x 60
B =989 N
—+XF, =0;A -B,=0
A, =B,
A, =989 N
+1ZF,=0;B,—m,*g—m*g =0
B, =m,*g + m*g
B, = (4*9.81) + (15*9.81)

B, =1864 N

_12¢9.81+250 + 20+9.81 (250 + 180)
x 80

B, = 142245N
—+XF =0; A -B,=0

A, =B,

A =142245N

+T2F, = 0; B, — m,*g —m*g =0
B, = m*g +m*g

B, =(12%9.81) + (20*9.81)

B, =313.92N

< e
Jo¥ 13. 1 Tandninmiaitoves R.C. Hibbeler Engineering Mechanics Statics SI Edition

Determine the force in each member of the truss and state if the members are in tension or

compression. Hint: The horizontal force component at A must be zero. Why?

(n)

Fen Faa

()

: o A A
suUAi n.13 nemswazbuagiazramsdriununnmaiouTlsunsidod 13,

el
(n) uaaszrlnTonddeh 13.

=
(V) 115iA Free Body Diagram dof 13.

64



Given :
F,=600N,F,=800N,a=4m

b=3m, 6 =060°

Solution :
Joint C

F.,-F,cos©=0,-F,-F,sin0=0

Joint B
b
Feot Fop Fomgie = 0
a_ —
-FBA+ Fop, 224b2 F,=0
Fp=-F,cos 0
F.p,=- 800 cos(60)
F.,= -400N
F.,= -F,sin @
Fop= - 800 sin(60})
Fop= -692.82 N
~Fep#(vVa+b?)
Fyp = B\ "
_ 400+(V4%+3%)
FBD - 3
F,, = 666.67 N
a
Fya=Fgp © W"“E
4
Fg, = 666.67 * W-I- 600

F,,=1133.336 N

Given :
F,=750N,F,=90N,a=6m
b=5m,0 =75°

Solution :
Joint C

F,-F,cos0=0,-F,,-F,sin0=0

Joint B
b

Feot Fon e~ 0

Fy o+ Eop a—:@ -F,=0
Fop=-F,c0s 0
Fop=-900 cos(75)

Fop= -23294 N

Fop= -F,sin®

Fp= - 900 sin(75)

F.,= -869.33 N
_ —Fcp* a2+b?)
FBD 4 b
_ 232.49¢(V62+52)
BD 5
Fy, = 363.16 N

a

Fon = o " e L

F,, =363.16* +750

6
V62452

F,,= 102899 N

65
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$o 14, 19Tandvnmisdousa R.C. Hibbeler Engincering Mechanics Statics SI Edition
A force P=80 N is applied to the handles of the pliers. Determine the force developed on the

smooth bolt B and the reaction that pin A exerts on its attached members.

(m (V)

; 9/ o
g n.14 waassoazPoagluazsamasidinaunnasdouusunsudoh 14
|
(ny iiwrasgalonTonddeh 14.

a
(4) 1tA3 Free Body Diagram 497 14

Given : Given:
P-80N,a=31.75mm, b= 127 mm P=130N,a=425mm,b= 150 mm
¢=38.1 mm ¢=47.25 mm
Solution : Solution :
DTM,~0;-R, *c+P*b=0 EM,= 0;-R, *c +P*b=0
R~ P R,= P2
B 127 _ 150
Ry 80(537) Rq= 130(47.25)
R,=267N R, =4127 N
—+XF=0; A,=0 —+LF=0; A, =0
+12E, =0;A,-P-R,=0 +1ZF, = 0;A,-P-R, =0

A,=P+R, A,=P+R,
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A, =80 +267 A,=130+412.7

A,=347N A,=5427N

‘l at
Jan 15. Wimdnnmisdeves R.C. Hibbeler Engineering Mechanics Statics SI Edition
Determine the greatest force P that can be applied to the frame if the largest force resultant

acting at A can have a magnitude 2 kN.
r
: _I' rid
o 4‘
i s 7
. 1
3 P

el o+b
AL . atm Ha

(m (V)

H a =y -:!
51 .15 naraaswazideagiasramsauiivauonmsdouTsunsuden s,
A
(0 narmagoin Tondden 1s.

A
(1) 115193 Free Body Diagram 907 15.

Given : Given :
F,.=2000N,a=075m,b=0.75m F . =4500N,a=15m,b=125m
¢=05m,d=0.lm c=09m,d=025m
Solution : Solution :
$YEM,=0; THe + d)—P¥a+b) = 0 )M, = 0; THo+ dy—PHa +b) =0
—+XF=0; A -T=0 —+2XF =0; A -T=0
+}XF~0; A,-P=0 +12E=0; A -P=0
Thus , Thus ,
T=2Pp 4 -p A =20p T=22p A -p,a =20p

ctd ct+d ctd c+d

Require , Require,



0.7540.75\2
( 0.540.1 ) +1

P=743N

Fas = ’A,Z( + A%

B
P= max

G~
4,500

2
1.5+1.25
(D.9+0.25) +1

P=1736.13 N

A a - . g
497 16. 14 Tondoinmisiiovoq R.C. Hibbeler Engineering Mechanics Statics SI Edition

Determine the shear force and moment acting at a section passing through point C in the beam.

(m

310} .16 urmarwazBuagliazramsfiitmunnmadsuTlsunsudeh te.

() namagUon Tonddadt 16,

(W

r
(%) (159 Free Body Diagram Y0l 16.

Given :

w=3kN/m,a=6m,b=18m

Solution :

EM, = 0;-A b+ (%)wb(%) =0
e

a,=(5)rav18

A,=9kN

R ERCRONC S

Given :

w=5kN/m,a=8m,b=2Im

Solution :

Dzm,=0;-a 01 (3)wb(3) =0
A=(Crws

A= (G

A,=17.5kN

Due-acan (R

68
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M, =A,fa- 2 M =A *a - 22

M =976 - 25 M, =17.5%8 - 522

M, =48 kN/m . M_=119.68 KN/m

+TZFY =0; A,—(%)w(%) a-V =0 +TEF¥ =0, Ay—(%)w(%)a—vc=
V=AY Ve=A,-

Ve=9-2E Vo= 175-52

V= 61N V=988 kN

d o . A — . . -
Joi 17. 1ﬂ0ﬂﬁﬂ1ﬂﬂu\1ﬁﬂﬂm R.C. Hibbeler Engineering Mechanics Statics 8 Edition
Determine the normal force, shear force, and moment at a section passing through point C.Take P

=g kN.

] I_ T
i d+r
r-=t'||1 Mo Ve
- 2 r} A, N, '(—étﬁi—ﬂl‘.
b ¥

(M (V)

' Y = d
51 n.17 wansswazuagliazmamsddinaunomsdou lilsuasudei 17
A
() uansgilonTonddon 17.

d
(V) 41619 Free Body Diagram 167 17.

Given : Given :
P=8kN,a=0.75m,b=0.7m P=11kN,a=15m,b=125m
¢=075m,d=05m,r=01m ¢c=175m,d=2m,r=05m

Solution : ‘ Solution :



MIM,=0;-THd + 1)+ PHa+b+c) =0

T=P*(a+b+c)

d+r

T—g* (0.75 +0.75+ 0.75)

05+01

T=30kN

—+XF, =0; A =T
A, =30kN
+1ZE=0; A, =P
A8 1N

—>+ ZF = 0;-N.-T=0

N, =-30 kN

+TEF,= 0;V +P=0

V= -8 kN
F)EM,, = 0; -M, + P*e =0
M, =I*c

M, = 6 kN/m

70

MDIM,=0; -THd+ 1) +P*a+b+c)=0

at+tb+c
T_P*( d+r)

1.5+ 125+ 175
e (2225
1 2+05

T=19.8kN
—+2F =0,A =T
A =19.8kN
+]ZF=0;A =P
A, =11 kN

—+2F=0,-N.-T=0

N,=-19.8 kN

+1ZF=0; V,+ P=0

Ve=-11kN
DIM, = 0;-M, +P*c=0
M.=P*¢c

M, = 19.25 kN/m

P o
Jo¥i 18. lﬂﬂmfamﬂmﬁaum R.C. Hibbeler Engineering Mechanics Statics SI Edition

The shaft is supported by smooth bearings at A and B and subjected to the torques shown.

Determine the internal torque at points C, D, and E.



(n) ()

§ [ ] ﬂl
31t n.18 neaaswazBsagtuazamsaniiuaunamsdoullsunsuden 18,
(n) uarmaglonTondde 1s.

(¥) UEAY Free Body Diagram 90# 18.

Given : Given :

M, =400 N/m , M, = 150 N/m M, = 520 N/m , M, = 270 N/m
M, = 550 N/m M, = 670 N/m

Solution : Solution :

Section C : Section C :

XM =0; T =0 XM, =0;T.=0

Section D: Section D:

XM, =0;T,-M,=0 XM, =0;T,-M,=0

T, =M, T,=M,

T, =400 N/m T, =520 N/m

Section E : Section E :

IM =0; M, +M,-T =0 IM,=0;M, + M,-T;=0
Tg=M, +M, Te=M,+M,

T, =400 +150 T =400 +150

T, = 550 N/m T, =790 N/m

71



72

ﬂl L3 1 -
o7 19, Wlmdnndedndereuvesaniinins
o o ﬁl - o 2{' o ] o
DONITIHANWER 1000 N fiszAuaNuga 1.5 m daniniu deseenuswaniihiasaeeild

' .o =y o (] o 5 wr
napand1 auud Iddagiinanmuuniuoniunasiog

L2m_

o}
(M (V)
U n.19 nmeswnziBoagluazramsauiivaunnmi@ou Tasunsude 19,

d
(n) ugnazilanTonddon 19.

(Y) UHA4 Free Body Diagram Jo¥ 19.

Given : Given :

m=[000N,y=15m, Us=0.5 m=1500N,y=2Im, Us=0.8
Solution : Solution :

FS = [ls*N ES = IIs*N

FS =(0.5)*(1,000) F8 = (0.8)*(1,500)

ES =500 FS = 1,200

HANTIYAUAMIGA 1.5 s WANTISZAUANNYS 2.1 A
D) YM=0;FS —F*y) =0 )TM=0;FS-F*y)=0
F-22 F=222

F=33333N F=57143N
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a ™ ' P’
Fofi 20. ¥ TonduiniInddoneuveannIfIng

= J ar o = 4 = L} 1 o or
fnsantuTanzdaql Sidmlszdnanudeaniuadn (L) Sumiiu 04 dmsumn

A e o a A d d . Y 1 ra A ey &
ot safimsanmuniause P teshigafivh sy TavsdumaGumdoundaulans

T 1 ﬂ? L)
uanihing 200 kg taztu lansadmuuiinaa 100 kg

() W)

: - d
gl n.20 urpsswazBagazramsdufivnuainns@ou Tlsunsudon 20
4
(m) usnagrfnnTanddet 20.

o
() 1§93 Free Body Diagram 0¥ 20.

Given : Given :

m,=100kg , m,=200kg , Us=04 m,=150keg , m,=280kg , Us=0.8
Solution : Solution :

N=m*g N=m*g

N, =100*9.81 =981 N N, =150*9.81=1,471.5N

N, =200%9.81=1,962 N N, =280%9.81 =2,746.8 N

F, = Us*N, F, = ls*N,

F, =0.4(981) F,=0.8(1471.5)

F,=3924N F,=1177.2N

F, = [Is*N, F, = [s*N,
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F, =0.4*1,962 F,=0.8*2,746.8

F,= 7848 N F,=2,19744 N
P=F+F, P =FtF,
P=784.8+3924 P=1,176.8 +2,196.8
P=11772N P=337464 N

4 w
Jof 21. “lﬁnmfmnnuqﬁ‘aum R.C. Hibbeler Engineering Mechanics Statics SI Edition
If five horizontal force is P = 80 N. Determine the normal and frictional forces acting on the 300 N

crate . Take [ls = 0.3 ,)lk =0.2

a|W

N¢
() (v)

51} n.21 urmaswaziBuaguaznamanuivammamsdou T sunaudeh 21.
Pl
(n) uaasglainTonddan 21.

A
(V) UAAA Free Body Diagram Jon 21.

Given : Given :

w=300N,P=80N, Hs=03 w=500N,P=190N, Us=04
Lk=02,06=20° Lk=03,0=35°

Solution : Solution :

Assume no slipping : Assume no slipping :
AZF=0;Pcos®-wsin0+F,=0 ALE=0;Pcos©-wsin®+F, =0

FC=-Pcose+wsin6 FC=-PcosB+ws'u10



F, = - 80 cos(20) + 300 sin(20)
F,=2743N
\ZFY=0;NC-wcosB-Psme =0
N.=wcos8 1 Psin0

N, = 300 cos(20) + 80 sin(20)

N, =309.27 N

Jot 22. 19 Tondndreddomeuvesaniinang

F,=- 190 cos(35) + 500 sin(35)

F.=13LI5N

‘NEF,=0;NC—wcose~Psin6=0

N,=wcos © +P sin ©
N, =500 cos(35) + 190 sin(35)

N, =518.56 N

= W _ 4 El
IMIRAA(X,y)UBIYARUINA W centroid)¥BIFUTIMAUAIINY

75

x
Y
)
() @)
{ s _ o = |
5 n.22 s wnzBuagduazransduivausinmis@ou Tusuns wdon 2.
A
(n) urvaaglanTondden 22.
P
() (1A Free Body Diagram Jdo¥ 22.
3 . P2 |
ms1afi 0.1 uaaansunu TasldveyaninTanddeh 22.
F d _ _ - e
YuUN x y X v A AX Y
1 3 6 2 2 9 18 18
2 4 6 5 3 24 120 72
3 3 6 8 2 9 72 18
p! 42 210 108




210
42

108

42

H ° a A
mi51af 0.2 taraamsfau Taolddeyamuyiden 2.

76

A A — —_
FUN X Yy 3 ? A AX Ay
1 5 10 333 333 25 83.25 83,25
2 7 10 8.5 5 70 595 350
3 5 10 13.66 3.33 25 341.5 83.25
3 120 1019.75 516.5
/o ¥ AX 1019.75
X = = 8.5
LA 120
_ LAY 516.
L R oy A

ZA




¥ . . -
o 23, M Tandoindredudoaouveiadmising

- a o o < d‘l.’ A o
HNNTUTHIANAYOIAEUNTOUR 114[[“'1!lﬂu x ‘umwuﬂmuffﬂﬂugﬂ

77

g n.23 usmaswaziduaglaznamsdninnunnmsFos Tdsunsudoh 23

(n) uanagioinTonddon 23.

d
(1) 116/A9 Free Body Diagram Jon 23,

mswdi 0.3 uaaamsinou lasldeyavinTondiod 23,

&

‘mncfll r X y % A AX
1 3 14 20 7 280 1960
2 4 = % 6 -50.27 -301.62
3 229.72 1658.32

— L AX 1658.32
X=——=——" =722 mm
z 229,72




' . .
maai n.4 naaamasnnu laoldeyacnided 2.

78

Fudl r X y % A AX
1 - 18 25 9 450 4050
2 6 - - 8 -113.1 ~-904.8
) 336.9 3145.2
g ZAX 32 o 34mm
= 336.9

A - " -
o 24. 14 Tandeinaretedoaouuedan1InINg

= oo o Ld A Ao
AIHNITWUIHINNAYDIPALITUNTOUA 1uumuﬂu ¥ ‘llf)s'lﬂﬂﬂﬂ»!llﬂﬂx‘l‘hljll

(m

H [ ] L) A
JUN n.24 uaaeTwaziBagliazsamsduiiuaonmsdouTilsunsuden 24
P
() uaasgilon Tanddod 24,

d
(V) 1Y ¢ Free Body Diagram 400 24.




L . A
m15197 0.5 narasmaiian Taol¥eyannTondded 24.

79

] —
BUN r X y v A Ay
1 - 14 20 1¢ 280 2800
2 4 - - 12 -50.27 - 603.19
% 229.73 2196 81
— _IAy 219681
Y=7- =9.562 mm
LA 22973
P . 3 3 ay
a1319h 0.6 uaaansnvan laolsvoyanuyAroh 24.
7 1 -
WUN r X y v A Ay
1 - 18 25 12.5 450 5625
2 6 - - 14 -113.1 -1583.4
3 336.9 4041.6
—. LAy 40416
y=— = =12 mm

ZA 3369




el w
Joi 25. MW landnnmisfiouss R.C. Hibbeler Engineering Mechanics Statics SI Edition
Determine ¥, which Iocates the centroidal axis x' for the cross-sectional area of the T-beam, and

then find the moments of inertia Ix' and Iy,

(M ()

i (=1 [J ~ = A:l
g1l 4.25 wraanwazBoapiluazransduiuauvinmsdou il sunaudef 25
- |
(n) uaaaglon Tanddeh 25.

d .
(V) 40'A4 Free Body Diagram Joh 25.

Given :
a=25mm,b=250 mm, c= 50 mm,d= 150 mm

Solution :

(g)b2a+ b+§)zdc

Y= hzatcad

_ 250, (25042+25)+(250+ )x(2+150+50)
y {250%2%25)+(50+23150)

y = 207mm

=1 oapd 5 -9 4 Loges <5
Ix'—E2ab +2ab(y S +122dc +‘:2d(b+2 y)

2
I/ = (225 # 250%) + (2 » 25 + 250) * (207 —ﬂ) + (2 %150 +50%) + (50 + 2+ 150) »

2

250 + 2 — 207)"
(250 + 5~ 207)

=222 % 10° mm’

80
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L= =b(2a)* + == c(2d)°
=5+ 250(2 + 25)* + 1> » 50(2 * 150)°
L' = 115 x 10° mm"

Given :
a=35mm , b=330mm , ¢=75mm , d= 175 mm
Solution :

(g)bza+(b+§)zdc
b2a+c2d

=l

330 75
27)#(330+2+35)+(330+ 77 )#(2+175275)
(330+2+35)+(75+2+175)

sl

¥=272.71 mm

i1 3 S AT | c %2

I = 2ab% + 2ab (5 —2) + 2 2dc’ + c2d (b +2-)
330

4
L'=2(2+35+330% + (2% 35+ 330) » (272.71 —T) +2 (22175 5 75%) + (75 ¥ 2% 175) »

75 z
(330 +ZE- 272.71)
=726 x 10° mm*
I'= 2 b(2a)® + —c(2d)?
Y o12 12
1= ﬁ * 3302 + 35)% + é +75(2 » 175)3

Iy’ =277 x 10° mm’
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= o o
<ot 26. 19 Tondo1nmiadeusd R.C. Hibbeler Engineering Mechanics Statics SI Edition
Determine the product of inertia for the beam's cross-sectional area with respect fo the x and y

axes that have their origin located at the centroid C.

(n) )

{ o =y (=) 14
11t n26 umaenvazdoaguaznamsauituaunnmsdiouTusunsuden 26.
(n) iiermagioin Tamdvei 26.

A
(%) llaint Free Body Diagram 4o 26.

Given ; Given :
a=lmm,b=5mm,c¢c=5mm a=2mm,b=7mm,c=8mm
Solution : Solution :
a b a a b a
1,=20a(5 —3) (c +3) 1,=2(5 —3)(c +3)
1 5 1 2 7 2
,-2s01(3=3) +(5+3) ,=272(}~7) «(8+3)

1,=- 110 mm’ I, =- 630 mm'
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do% 27. ¥ Tendnnmisiious R.C. Hibbeler Engineering Mechanics Statics SI Edition
Determine the moments of inertia Tu , Iv and the product of inertia Tuv for the beam's cross-

sectional area, Take & = 45°

(M) )

31l n.27 urmesreaziBuagiazannsduiivausams @ouTlsunsuden 27.
(m uaasziloin Tandded 27.

(%) 1/AQ Free Body Diagram Y07 27.

Given :
9=45°,a=8 mm, b=2 mm

¢=2mm,d=16 mm

Solution :

2

I, =2(a +b)c® + 4 2bd® + 2bd 6

2 1 162
Ing*(8+2)¢23+E¢2*2*163+2t2t16(?)
I =5.515x 10’ mm'
- [2(a + b)Pc + 1 (2b)%d
=232 842+ 24+ (2+2)°*16
1= 1419 x 10" mm'

4
Iw=0mm

Ix+1y
2

ix-ly .
I,= +——c0s 28 ~ I, sin(28)



(5.515 x 10% +1.419 % 107) (5.515 X 103 — 1419 % 103)
= 4

I
U 2 2

* cos(2*45) — I, *sin(2*45)

I,=347 % 10’ mm’

Ix+1y Ix-1I .
I, = ___2_y —-z—lcos 28+1,,sin(20)

_ (5515x10% +1.419x 10%) (5.515 x 103 — 1.419 x 10?)

I
A4 2 F

* cos(2*45) + 0*sin{2*45)

1,=3.47 % 10’ mm'

Given :
©=30°, a=6mm,b=4 mm

c=3 mm,d=20 mm

Solution :

_2 84 A7 4y?

I,=3(a +b)c® +; 2bd® + 2bd ()

_2z a1 3 20)?
L-2¢(6+ 4+ +1:2442203 +2+4+20+(%)
= 2,151 x 10" mm'

_3 3.4 1 3
1,712[2(a+b)] ¢+ (2b)3d

L=5[25(6+ 417 +3 45+ (254)20

I =2.853 x 10’ mm’
4
l“ ={} mm

I, =¥+"‘_“21!cos 20-1,, s5in(26)

(2151 % 103 +2.853 % 103) (2.151x 107 -2.853 x 10%)
= +
u 2 2

I ¥ c0s(2%30) — L, *sin(2*30)

I, = 16.848 x 10’ mm’

I, = % % cos 28 +1,, sin(26)
3 3 3. 3
, (2151x 10 ; 2.853x10%) (2151x10 - 2.853x 107), cos(2*30) + 0*sin(2*30)

I

1,=7.518 x 10’ mm"

84



wo% 28. 19 Tandnnmisdouna R.C. Hibbeler Engineering Mechanics Statics SI Edition
Determine the force F needed to lift the block having weight of 100 N. Hint: Note that the

coordinates S, and S, can be related to the constant vertical length | of the cord.

—
) ’_'""4"'-"_\:&2_7

(n) ¥)

51l n.28 namsswazibuazluazsamsAuiivauInmsdou Tilsunsudon 28
=
(m) uamazonTonddan 23.

el
(V) LR Free Body Diagram o7 28.

Given : Given :

w= 100N w=170N

Solution : Solution :

1=8,+28, 1=8,+28,

0=35S, +28S, 0=258,+28S,

38, =-2 08, 8s,=-288,

83U = FdS, + wdSy =(-2F + w)88; =0 SU =F8S, + wdS, =(-2F +w)ds, =0
F= F= 2

F= > F- 22

F=30N F=8N
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d @
fioh 29. 19 Tandvinmisfouea R.C. Hibbeler Engineering Mechanics Staties SI Edition
The two bars each have weight of 8 N, Determine the required stiffness k of the spring so that the

two bars are in neutral equilibrium when © = 30°, The spring has an unstretched length of 1 m.

51 n.29 permerwazBoagiliosmamsduiivaunnms@ou Tsunsudod 29,
A
(n) uanagilen Tanddotn 29.

A
(U} uAAY Free Body Diagram do% 29,

Given: Given:
w=8N,6=30°,8=1Im w=1IN,0=45°,8=15m
a=2m a=35m
Solution : Solution :
V= 2w(§) sine + %k(Za cos e — §)? V= 2w(§) sine + é k(2acose — §)?
dv dv .
E’-:wacose—k(2acose—6)Zaslna =0 £=wacosﬁ — k(2acose — 8)2asine =0
_ wacos0 = wacos8
B (2a cos 06— 6)2a sinB (2za cos 8- 8)2a sin®
_ 8«2 cos 30 B 11+ 2 cos4s
" (2+2 cos 30— 1)»2+2 sin30 (2a cos 45— 1.5)+2+2 sin 45

k=2.812 N/m k=1.594 N/m
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doft 30, W Tondonmiaieuss R.C. Hibbeler Engineering Mechanics Statics SI Edition
Rods AB and BC have centers of mass located at their midpoints. If all contacting surfaces are

smooth and BC has mass m,, determine the appropriate mass m, of AB required for equilibrium,

(m) )

31 .30 wanauazBuagessamssuilununnmsdouTilsunsudei so
d
(m nansgiionTonddod 3o,

d
(4) U913 Free Body Diagram fo¥ 30.

Given : Given:

my. = 100kg,a=075m,b= 1 m my.=130kg,a=15m,b= .75 m
c=2m,d=15m ¢c=35m,d=25m

Solution : Solution :

Define : Define :

L,= va? + bZ =+0.75% + 17 L,=+vaZ + b? =152 + 1.75?
L,=125m L,=23m

L,=Vc? + 2 =22 + 182 L,=Vc% + d? =357 + 252
L,=25m L,=43m

0= atan(%) =atan(%) 0= atan(%) :atan(:—::)

0 =136.87° e =1554°

¢ = atan(%) = atan(o'—:s (1) = atan(%) = atan({_;—ss)

¢ =36.87° b =406°

Then : Then :

L,cos¢+L2cosB=b+c, L,cos¢+chose:b+c,



-L,sin080-L,sine do=0
Thus ;

L »sin(0)
8Ll - (Ljsin(tb)) %0

¥ =!'2—’sin e .. by, =-I:Zlcosa 501

Y, =-L?’sin o .. by, =%cos edl]

U = -m,, gBy, - myc gBy,

L ,sin cotd
mAB( ; z )-
=g de=0
L,
ch('z" cas)
m,, = m, tan [] cot ©

. = 100 tan(36.87) cot(36.87)

m,, =100 kg

-L,sin(0801-L,sin6 d6=0
Thus ;

L 25in{0)
80 - (L 1sln(¢)) %0

Also:
Ly . . Ly
y,='sin® ., Syl——z—coseﬁlj
_ {Lgsin cotd
85’1"(—'—'2 )69

y2=L2'3-sin e .. 5y2=-1'2—2-cose S0

8U = -m,, gdy, - my gy,
Lzsln cotd
=8
Mmge ("'“ COS) ]
m,, = mg tan [ cot @

m,, = 130 tan(40.6) cot(35.54)

=156 kg
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AMANUIN U,

Tanvaalilsunsn

‘l’ffJ'ﬁ 1. %ﬂ"lﬂﬁ' HET

from __ future _ import division

from math import*

s = input{’insert setar;")

sl = input('insert setarl:)

f1 = input(’insert F1:7)

t = (f1*(sin(radians(s)))) / (sin{radians(180 - (s + s1))))

p = (f1 * (sin(radians(s1))}) / (sin(radians(180 - (s + 51))))
print'T =, ,'N'

print'p =, p, N'

ﬂaﬁ 2, %B'lﬂf{ ist 2

from future  import division
from math import*

f= input('insert F:")

a = input('insert alfa:')

b = inpul(‘insert beta:’)

fx = £* sin(radians(b))

fy = -f * cos(radians(b))

print 'Fx =, fx, 'N'

print ‘Fy =, fy, ‘N

foft 3. $o'Md st 3

from __ fuiure__ import division
from math import*

f1 = input(insert F1:")

f2 = input(‘insert F2:")

s = input(’insert setar:')

89



¢ = input(insert c:")

d = input(‘insert d:")

frx = f1 * cos(radians(s)) - (2 * (¢ / sqrt{c ** 2 + d ** 2)))
fry = f1 * sin(radians(s)) + (f2 * (d / sqrt(c ** 2 + d ** 2)))
fr = sqrt(frx ** 2 + fry ** 2)

sefar = degrees(atan(fry / frx))

print 'Frx =, frx, 'N'

print 'Fry =, fry, '

print 'Fr =, fr,'N'

print 'setar =, setar, 'degrees’

Yot 4. dolvld : st 4

from _ future__ import division
from math import*

print 'setar = (x/ y)'

x = input(’insert x:")

y = input('insert y:")

w = input(insert w:')

k = input('insert k:")

z=y/x

setar = (atan(z))

setarl = degrees(atan(z))
print 'selar =, setarl, 'degrces'
f= w * sin(setar)

print 'f=', f,'N'

s=f/k

print's =", s, 'm’

o A
don 5. ¥o'd st s
from future_ import division
from math import*

f1 = input('insert f1:)

20



2 = input(insert £2:")

w = input('insert w:")
fd=fl+f2+w

a = input("insert distance of f1:')
b = input('insert distance of £2:")
¢ = input(‘insert distance of w:")
m={fl*a)+(R2*b)+(w*c)
print 'Fd =, fd, N'

print 'M =, m, 'N/m’

'l’l’El'I"ll 6. %B‘lﬂﬁ‘ :st 6

from _ future _ import division
from math import*

t = input(‘insert T:')

w = input(‘insert W:')

. s =degrees{asin(w / (2 * 1)))

print 'setar =', s, 'degrees’

{I'E)'ﬁ 7. %B\Mﬁ 15t 7

from _ future__ import division
from math import*

x = input{insert X:)

y = input('insert Y:')
xbar=x/2

ybar=y/2

print X bar =', xbar

print 'Y Ba: =', ybar

f = input('insert ')

a = input(‘insert angles:')

b = radians(a)

mx = {f * cos(b) * xbar) * 2

my = (£ * sin(b) * ybar) * 2

91



print 'Mx =', mx, 'kN/m'
print 'My =, my, 'kN/m'
m = mx + my

print ‘M =, m, 'kN/m'

Yoii 8. Folud st 8
from _ future__ import division
from math import*

f = input('insert F:")

11 = input('insert L1+
1= input('insert L:')
fd = f*11
cy=({d*(11/2))/1
print 'Cy =, ¢y, 'kN'
ay=fd-cy

print 'Ay =, ay, 'kN'

‘ﬁ‘i)ffll 9, %B’lﬂf{ (st 9

from future import division
from math import*

f = input{'insert F:")

a = input('insert a:')

b = input('insert b:')

¢ = input(insert c:')

s = input('insert setar:")

ma = (f * sin(radians(s)) * ¢) + (f * cos(radians(s)) * a)
print '(a) Ma =', ma, 'N/m'
fc=ma/a

print '(b) Fe =, fe, 'N'

A 1
goii 10. Fo'lWd :st 10

from future  import division
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print 'setar = (b / a)’

from math import*

a = input('insert a:)

b = input(insert b:")

f = input(insert F:")

z=b/a

r = atan(z)

setar = degrees(r)

fa =f* tan(r)

print ‘setar =, setar, 'degrees'

print ‘Fa =', fa, ™'

‘ffﬂ'ﬁ 11, #ﬂ‘lﬂf{ 1st 11

from __ future__ import division
from math import*

f1 = input('insert F1:)

£2 = input(‘insert F2:")

s = input('insert setar:")

a = input(insert a:")

b = input(‘insert b:")

¢ = input(‘insert c:'}

d =input(‘insert d:")

by = (((2 * cos(radians(s))) * (a + b)) + (fl *a))/(a +b)
print 'By =, by, 'N'

ax = f2 * sin(radians(s))

print 'Ax =', ax, N’

ay = 2 * cos(radians(s)) — by + f1
print'Ay =, ay, N'

fa = sqrt((ax ** 2) + (ay ** 2))
print 'Fa =, fa, "N
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ﬁﬂﬁ 12. #a'h'la' 15t 12

from _future  import division
from math import*

ml = input(insert m1:")

m2 = input(*insert m2:")

a = input('insert a:)

b = input('insert b:")

¢ = input{’insert c:")

d = input('insert d:")

¢ = inpui('insert e:')

g = input(‘insert g:")
bx=(m2*g*d)+(ml*g*(d+e)))/a
print 'Bx =', bx, 'N'

ax =bx

print 'Ax =, bx, 'N'

by =(m2 *g) +(ml *g)

print '‘By =', by, 'N'

‘ffﬂﬁ 13, %El'l‘ﬂﬁ. ist_13

from _ future _ import division

from math import*

f1 = input(‘insert F1:")

2 = input(‘insert F2:')

a = input(‘insert a:')

b = input(‘insert b:")

setar = input('insert setar."}

feb = (<(f2)) * (cos(radians(setar)))

fed = ~(£2) * (sin(radians(setar)})

fod = (((-(fcb)) * (sqrt(a ** 2 + b **2)))) /b
fba = (fbd * (a/ (sqrt(a ** 2 + b ** 2)))) + fl
print 'Fcb =', fcb, N'

print 'Fed =, fed, N’
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print ‘Fbd =, fbd, 'N'
print 'Fba =, fba, 'N'

Yot 14, 30'Wd st 14
from _ future  import division
from math import*

p = input{’insert P:")

a = input(‘insert a:")

b = input('insert b:")

¢ =input('insert c')
th=p*(b/c)

print 'Rb =, rb, 'N'
ax=0

print "Ax =, ax, W

ay =p + (1b)

print'Ay =, ay, N'

'I’J‘ﬂﬁ 15, §01ﬂﬁ :st 15

from _ future  import division
from math import*

f = input('insert F max:")

a = input('insert a:")

b = inpul(insert b:')

¢ = input(‘insert ¢:")

d = input(‘insert d:")

p=f/(sqrt(((a +b) /(e +d)) **2) + 1))

print 'P =, p, 'N'

|
$oi i6. 0'Md : st 16
from  futare  import division
from math import*

w = input(‘insert w:")
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a = input('insert a:")

b = input('insert b:')

ay=((1.0/6.0)* w) *b

print 'Ay =, ay, 'kN'

me = (ay * a) - ((w * (a ** 3)))/ (6.0 * b))
print 'Mc =', me, 'kN'
ve=ay-((w*{a**2)))/(20*b))

print 'V =, ve, 'kN'

Joft 17, do'lild st 17

from _future  import division
from math import*

p = input('insert P:')

a = input(‘insert a:')

b = input(‘insert b:')

¢ = input{'insert ¢:')

d = input(‘insert d:')

r = input(‘insert ')

t=p*((@a+b+c)/(d+r)

print 'T =, t, 'kN'
ax=t

print ‘Ax =, t, kN’
ay=p

print 'Ay =, p, 'kN'
nc = -(t)

print 'Nc =, nc, 'kIN'
ve=-(p)

print 'Ve =, ve, 'kN'
mc=p*c

print 'Mc =', me, 'kN/m'



Yoft 18. Ho'ld : st 18
from future  import division
from math import*

m1 = input(insert M1:")
m2 = inpuf('insert M2:")
m3 = input('insert M3;")
tc=0

td =ml

te =ml + m2

print "Tc =, te, "N/m'
print "Td =, td, "N/m'

print 'Te =, te, '"N/m'

$oft 19. oWl . st 10

from __fulure  import division
from math import*

m = input('insert m:")

y = inpul('insert y:')

mew = input(‘insert mew:")

fs =mew * m

f=1fs/y

print ‘F =, f,'N'

Yoft 20. o'W :st 20

from _ future_ import division
from math import*

ml = input(‘insert m1:")

m2 = input('insert m2;')

mew = input(‘insert mew:")

NI =ml*9.38]

N2 =m2 * 981

fl = N1 * mew
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f2 =N2 * mew
print 'F1 =, f1,'N'
print 'F2 =, f2,"N'
p=fl+12

print P =, p, 'N'

Yoit 21. Fo'lvid : st 21

from _ future__ import division

from math import*

w = input{'insert W:'}

p = inpui(insert P:")

ms = input(‘insert mew s:")

mk = input{"insert mew k')

s = input(‘insert setar:’)

fc = ((-p) * cos(radians(s))) + (w * sin(radians(s)))
print 'Fe =, fc, 'N'

nc = (w * cos(radians(s))) + (p * sin(radians(s)))

print 'N¢ =, nc, 'N'

{l’ﬂﬁ 22, %B'lﬂf‘l{ st 22
from __ future___ import division
from math import*

x1 = input(‘insert x1:')

x2 = input(‘insert x2:")

x3 = input(‘insert x3:")

xbl = input(insert x barl:')
xb2 = input('insert x bar2:")
xb3 = input(’insert x bar3:")
y1 = input(‘insert y1:')

y2 = input(‘insert y2:)

¥3 = input('insert y3:")

ybl = input(’insert y barl:")
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yb2 = input(‘insert y bar2:")
yb3 = input(‘insert y bar3:")
al=x1*yl/2
a2=x2*y2
a3=x3*y3/2

suma = &l + a2 + a3

axb! = xbl * al

axb2 = xb2 * a2

axb3 = xb3 * a3

aybl = ybl * al

ayb2 =yb2 * a2

ayb3 =yb3 * a3

print'Al =, al
print 'A2 =, a2
print 'A3 =', a3

print 'Ax barl =, axbl

print 'Ax bar2 =', axb2

print 'Ax bar3 =, axb3

print 'Ay barl =, aybl

print 'Ay bar2 =, ayb2
print'Ay bar3 =, ayb3
sumaxb = axbl + axb2 + axb3
sumayb = aybl + ayb2 + ayb3
print 'sum A =', suma

print 'sum Axbar =, sumaxb
print 'sum Aybar =, sumayb
xbar = sumaxb / suma

print 'X bar =', xbar

ybar = sumayb / suma

print 'Y bar =, ybar
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'I"J’f.)‘i':‘ll 23, %ﬂ\lﬂﬁ‘ :st 23

from __ future__ import division
from math import*

x1 = input('insert x1:")

y1 = input(insert y1:")

12 = input('insert 2:"}

xbarl = input(‘insert x barl:")
xbar2 = input(‘insert x bar2:')
al=xl*yl

a2 =pi * (2 #* 2)

axbarl = al * xbarl

axbar2 = a2 * xbar2

suma = al - a2

sumaxbar = axbarl - axbar2
xbar = sumaxbar / suma
print'Al =, al, 'mm'

print ‘A2 =, a2, 'mm’

print ‘A x barl =', axbarl, 'mm'
print "A x bar2 =, axbar2, 'mm’
print 'sum A =', suma, 'mm'
print 'sum A x bar =', sumaxbar, 'mm'

print 'x bar =, xbar, 'mm’

dof 24, Fo'lid st 24

from __ future _ import division
from math import*

x1 = input('insert x1:')

y1 = input(‘insert y1:")

r2 = input('insert r2:")

ybarl = input('insert y barl:"}
ybar2 = input(‘insert y bar2:")
al=x1"*yl
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a2=npi* (12 ** 2)

aybarl =al * ybarl

aybar2 = a2 * ybar2

suma=al - a2

sumaybar = aybarl - aybar2
ybar = sumaybar / suma

' print'Al =, al, 'mm'

print'A2 =, a2, 'mm'

print 'A y barl =, aybarl, 'mm'
print'A y bar2 =', aybar2, 'mm!’

print 'sum A =', suma, 'mm'

print ‘'sum A y bar =', sumaybar, 'mm

print 'y bar =, ybar, 'mm'

$of 25. 4o Wd : st 25

from _ future _ import division
from math import*

a = input('insert a:")

b = input('insert b:")

¢ = inpuf('insert ¢:')

d = input(‘inseri d:')

ybar=(((b/2)*b*20*a) + (b + (/200 *R0*d*c))/(b*20% )+ (c*2.0* ()
ix =(((1.0712.0) * (2.0 *a * (b ** 3.0))) + ((2.0 * a * b) * ((ybar - (b/2.0)) ** 2.0)) + (1.0 /
120)* 2.0 *d *c **3.0))) + ((c * 2.0 * d) * ((b + (c / 2.0) - ybar) **2.0)))

iy =((1.0/12.0) * b * ((2.0 * a) ** 3.0)) + ((1.0/ 12.0) * ¢ * (2.0 * d) ** 3.0))

print'y ba r=', ybar, 'mm’
print 'Ix =, ix, 'mm~4'

print 'ly =, iy, 'mm~4'

d
{ofi 26. #o'lvid : st 26

from _ future  import division
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from math import*

a = input(‘insert a.')

b = input(insert b;")

¢ = input{'insert ¢:")
ixy=2*b*a)*({(a/2)-(b/2)*(c+(a/2)

print 'Ixy =, ixy, 'mm~4'

fofi 27. ¥t : st 27

from _ future _ import division
from math import*

a = inpui("insert a:')

b = input(‘insert b:')

¢ = inpul('insert c:")

d = input(‘insert d:')

s = input(’insert setar:')

102

ix={(20/3.0)*(@a+b)*(c**3)+((1.0/12.0) *2.0* (b * (d** 3NN+ (2.0*b*d * ((d/

2.0) **2))

print 'Ix =, ix, 'mm*4'

iy =(((1.0/12.0)* ((2.0* (a+ b)) ** 3)} * ¢} + (((1.0/ 12.0) * ((2.0 * b) ** 3)) * &)

print 'Iy =, iy, 'mm”4'
ixy=0

print 'Ixy =, ixy, 'mm*4’

iu={(ix +1iy) / 2) + ((ix - iy) / 2) * (cos(radians(2 * s)) - (ixy * sin{radians(2 * s))))

print 'Iu =, iu, 'mm"4'

iv=((ix + iy) / 2) - ((ix - iy) / 2) * (cos(radians(2 * s)) + (ixy * sin(radians(2 * s))))

print 'TIv =, iv, 'mm*4'

foh 28. Fo'lWd st 28

from _ future _ import division
from math import*

w = input('insert W:')

f=w/2



103
print ' =', f,'N

ot 20. Fo'lWd : st 29

from _ future _ import division

from math import*

w = input('insert w:')

setar = input(‘insert setar:')

delta = inpul(‘insert delta:")

a = input('insert a:')

k= (w * 3 * cos(radians(setar))) / ((2 * a * cos(radians(setar)) - delta) * 2 *a *
sin(radians{setar))})

print % =|’ k, N/m'

ot 30. ¥o'lWd st 30

from future import division
from math import*

mbe = input('insert Mbc:")

a= input('insert a:')

b = input(‘insert b:')

¢ = input('insert ¢.'}

d = input('insert d:')

11 = sqri(a ** 2 + b ** 2)

12 =sqrt{c **2+d **2)

setar = degrees(atan(d / c))

phi = degrees(atan(a / b))

mab = mbe * tan{radians(phi)) * (1 / tan(radians(setar)))
print'L1 =, 11, 'm'

print ‘L2 =, 12, 'm'

print ‘setar =, setar, 'degrees’
print 'phi =', phi, ‘degrees'

print 'Mab =', mab, 'kg'
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